MIAMI-DADE COUNTY, FLORIDA

MIAMI- E METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 3752901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.buildingcodeonline.com

Robico Shutters, Inc.
4800 S.W. 51% Street
Davie, Florida 33314

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.039” (min.) Galvanized Steel Storm Panel Shutter

APPROVAL DOCUMENT: Drawing No. 05-289, titled 0.039” Galvanized Steel Storm Panel, sheets 1 through
16 of 16, and sheets 1A, 11A, & 12A of 16, prepared by Tilteco, Inc., dated 09/15/2005, last revision #1 dated
09/15/2005, signed and sealed by Walter A. Tillit Jr., P.E., bearing Miami-Dade County Product Control Revision
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors

and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 03-0521.07 and consists of this page 1, evidence submitted pages E-1, E-2, & E-3 as
well as approval document mentioned above.

The submltted documentation was reviewed by Helmy A. Makar, P.E.

4 M\/ NOA No 05-0927.01
Expiration Date: 06/26/2008

Approval Date: 03/16/2006
03/"’/7’006 PP Page 1




Robico Shutters, Inc.

[y

>

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL No. 96-1101.02

DRAWINGS

1.  Drawing No. 96-297, Robico, Inc., 20 gage Storm Panels, Sheets 1, 2, 3, 4, 5, 6, 7, and 8 of
8 prepared by Tilteco, Inc., dated 06/05/97, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS

1. Test report on Uniform Static Air Pressure Test of 20 gage storm panels, prepared by
Hurricane Engineering & Testing Inc., Report No. HETI-96-570, dated Sept. 18, 1996,
signed and sealed by Hector M. Medina, P.E.

2. Test report on Large Missile Impact and Cyclic Wind Pressure Test, of 20 Gage Steel
Storm Panels, prepared by Hurricane Engineering & Testing Inc., Report No. HETI-96-
569, dated Aug. 09, 1996, signed and sealed by Hector M. Medina, P.E.

CALCULATIONS

1. Storm panel shutter calculations, Sheets I through 17 by Tilteco, Inc., signed and sealed
by Walter A. Tillit Jr., P.E., dated 10/30/96.

2. Storm panel shutter calculations, Sheets 1 through 17 by Tilteco, Inc., signed and sealed
by Walter A. Tillit Jr., P.E., dated 05/19/97.

MATERIAL CERTIFICATIONS

1. Mill Certified Inspection Report, dated 10/05/96, for Hot Dipped Galvanized Steel,
ASTM A446 Grade C by Robert O'Neil of R & R Metals, Inc., with chemical
composition and physical properties.

2. Tensile Test Reports from Hurricane Engineering & Testing Inc., Job No. HETI-96-
T30 dated 10/20/96 for galvanized steel, tested per ASTM ES8-93, signed and sealed by
Hector M. Medina, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL No. 99-0317.04

DRAWINGS

1. Drawing No. 96-297, titled “20 Gage Storm Panel”, prepared by Tilteco, Inc., dated
September 20, 1996, last revision dated May 3, 1999, sheets 1 through 15 of 15, total
of 16 sheets including sheet 104 of 15, signed and sealed by Walter A. Tillit, Jr., P.E.

TESTS

1. Test reports on Uniform Static Air Pressure Test, SFBC PA 202-94, Large Missile
Impact Test, SFBC PA 201-94 and Cyclic Wind Pressure Test SFBC PA 203-94 of 20
ga. galvanized steel storm panels, prepared by Fenestration Testing Laboratory, Inc.,
Test Report No. 2032, dated April 16, 1998, signed and sealed by Gilbert Diamond,

Yo Ars /M

¢~ Helmy A. Makar, P. E.
Product Control Examiner
NOA No 05-0927.01
Expiration Date: 06/26/2008
Approval Date: 03/16/2006




Robico Shutters, Inc.

> w

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

Test reports on Uniform Static Air Pressure Test, SFBC PA 202-94, Large Missile
Impact Test, SFBC PA 201-94 and Cyclic Wind Pressure Test SFBC PA 203-94 of 20 ga.
galvanized steel storm panels, prepared by Fenestration Testing Laboratory, Inc., Test
Report No. 2126, dated October 5, 1998, signed and sealed by Gilbert Diamond, P.E.

CALCULATIONS

1. Anchor analysis, 20 ga. Galvanized Steel Storm Panel, dated May 06, 1998, pages 1
through 11 of 11, prepared by Tilteco, Inc., signed and sealed by Walter A. Tillit, Jr.,
P.E.

2. Anchor analysis, 20 ga. Galvanized Steel Storm Panel, dated November 04, 1996,
pages 1 through 14 of 14, prepared by Tilteco, Inc., signed and sealed by Walter A.
Tillit, Jr., P.E. «

MATERIAL CERTIFICATIONS

1. Mill Certified Inspection Report issued by R & R Metals, Inc., dated 07/02/98 with
chemical composition and mechanical properties of 20 ga. grade 40 galvanized steel
per ASTM A446-C.

2. Certified Tensile Test Report Number CTL #634D, prepared by Certified Testing
Laboratories, dated July 15, 1998, tested as per ASTM E-8, for steel storm panel,
signed and sealed by Ramesh Patel, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL No. 00-0307.04
DRAWINGS
1. None.

TESTS
1.  None.

CALCULATIONS
1.  None.

MATERIAL CERTIFICATIONS
1. None.

OTHERS

1. Letter from Tilteco, Inc., dated February 24, 2000, signed and sealed by Walter A.
Tillit Jr., P.E., stating that he is still the engineer of record for this product and
manufacturer and continues to be in the engineering business.

) (/' Helmy A. Makar, P. E.
Product Control Examiner

NOA No 05-0927.01

Expiration Date: 06/26/2008
Approval Date: 03/16/2006




Robico Shutters, Inc.

.

N

D.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #03-0521.07

DRAWINGS

L Drawing No. 03-095, titled “ 20 gage Storm Panel ", sheets 1 through 16 of 16,
including sheet 114, total of 17 sheets, prepared by Tilteco, Inc., dated May 15, 2003,
last revision #1 dated May 15, 2003, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1 None.

CALCULATIONS :
1. Anchor analysis, 2 Pages, prepared by Tilteco, Inc., dated July 30, 2001, signed and
sealed by Walter A. Tillit Jr., P.E.

MATERIAL CERTIFICATIONS
1 None.

NEW EVIDENCE SUBMITTED
DRAWINGS

Drawing No. 05-289, titled 0.039” Galvanized Steel Storm Panel, sheets 1 through 16 of
16, and sheets 14, 114, & 124 of 16, prepared by Tilteco, Inc., dated 09/15/2005, last
revision #1 dated 09/15/2005, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS

None.

CALCULATIONS

Anchor calculations prepared by Tilteco, Inc., dated September 15, 2005, sheets 1
through 85 of 85, signed and sealed by Walter A. Tillit Jr., P.E.

QUALITY ASSURANCE
By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
None.

bl Al

Helmy A. Makar, P. E.
Product Control Examiner
NOA No 05-0927.01
Expiration Date: 06/26/2008
Approval Date: 03/16/2006



1. STORM PANEL SHOWN ON'THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN
ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.

IN ORDER TQ VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED [N THEIR ANALYSIS. A DURATION FACTOR CD=1.80 WAS
USED FOR VERIFICATION OF FASTENERS [N WOQOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.4
OF THE ABOVE MENTIONED CODE AS PER HURRICANE ENGINEERING & TESTING INC. REPORTS 96-568, 96-570 & 96-T30
AND FENESTRATION TESTING LAB. INC., REPORT # 2126 , AS PROTOCOLS TAS-201, TAS—202 AND TAS-203.

2, ALL ALUMINUM EXTRUSIONS TO BE 60683-T6 ALLOY AND TEMPER. (UNLESS OTHERWISE NOTED)
3. ALL ALUMINUM SHEET METAL USED AT CLOSURES SHALL HAVE 3105-H14 ALLOY.

4, ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY STEEL, ASTM A—653 GRADE 40 MINIMUM, G—-80
GALVANIZED STEEL DESIGNATION W/FY= 42.9 ksi (AFTER ROLLED).

5. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER
DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

6. BOLTS TO BE ASTM A—307 CALVANIZED STEEL, OR AISi 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD
STRENGTH.

7. ANCHORS TO WALL SHALL BE AS FOLLOWS:
(A) TO EXISTING POURED CONCRETE:
— 1/4" ® TAPCON ANCHORS AS MANUFACTURED BY |. T. W. BUILDEX OR ELCO TEXTRON.
- 1/4" 8 CF TAP-GRIP ANCHORS, AS MANUFACTURED BY TRU-FAST CORPORATION.

- 1/4" ¢ x 7/8" CALK~—IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS
INC., AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" 1 7/8" FOR ELCO
PANELMATES AND FOR CF TAP—GRIP ANCHORS IS 1 1/4"

A.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NG EMBEDMENT INTO STUCCO
SHALL BE PERMITTED. 1/4" #-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM
FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS W/O HEAD, BUT WITH WING NUTS.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, PAVERS, STUCCO OR WQOOD BANS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
ANCHORAGE SHALL BE AS MENTIONED IN A.1) AND IN A.2).

(B) TO EXISTING CONCRETE BLOCK WALL:
— 1/4" ¢ TAPCON ANCHORS, AS MANUFACTURED B8Y I. T. W. BUILDEX OR ELCO TEXTRON.
- 1/4" ¢ CF TAP—GRIP ANCHORS, AS MANUFACTURED BY TRU-FAST CORPORATION.

- 1/4" ¢ x 7/8" CALK—IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS
INC. AND ELCO TEXTRON, RESPECTIVELY.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, ELCO PANELMATES AND CF TAP—GRIP, INTO THE CONCRETE BLOCK UNIT
SHALL BE 1 1/4".

B.2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4" 8—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1"

MINIMUM FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS W/O HEAD, BUT WITH WING
NUTS. ‘

B.3) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS, STUCCO OR WOOD BANS BE FOUND ON THE EXISTING

WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS
MENTIONED IN B.1) AND IN B.2).

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

8. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SEECTION 1, 2, 2A (BUT ONLY
W/ STUDDED ANGLE & @ EA. SIDE) AND 3, 4, 5, 6 & 7 ON SHEET 3 & 4 OF 16, EXCEPT THAT STUDDED ANGLE
SHALL BE USED INSTEAD ON CEILING HEADER@.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS
TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOQD
FRAME BUILDINGS.

10. EACH PANEL WITH LENGTHS OVER 104" SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR
TENANT TO SECURE PANELS WITH APPLICABLE REINFORCEMENT DURING PERIODS OF HURRICANE WARNING.

11. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL
LENGTH. )

12, STORM PANEL INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT iS APPLIED TO.

13. (@) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SIiTE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS
PRODUCT BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT.
CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME
THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D.
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE
SPECIFIC DRAWINGS FOR REVIEW. ‘

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
THAT PREPARED IT.

12. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL. ONE LABEL SHALL
BE PLACED FOR EVERY PANEL. .

LABEL SHALL READ AS FOLLOWS:

ROBICO SHUTTERS, INC.

DAVIE, FL.

MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED.

PRODUCT REVISED .

gs complying with the Florida
Buiding Code
Acceplance NeD5S ~ ' 17 .0}

By He
Bltaml
Frivision

F.B.C.(High Velocity Hurricane Zone)

LG,

0.039" GALVANIZED STEEL STORM PANEL|  prawn ar:

| 8/15/05
/TLIECO s, \| ROBICO SHUTTERS, ine. | i

TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05~289
8355 NW. 36th, Si, Ste. 305, VIRGINIA GARDENS, Fl. 33166 Phone : (954) 689-7545 , Fax : (954) 689-8797

) 'A& oS Phone : (305) 87;;_?5%6;;’;; (305) 8711537 RV, No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr., P. E. i OLD Q3-045 5/15/05] 3 - - SHEET 1 OF 16
FLQRIDA i, # 44167 2 ~ - 4 - =




15.125" (TOTAL WIDTH)

3 1.350" 1.350" 1.350"
Q:
)

1.350"

A e, FPANEL'S END LIP
A~ 0.039" N\ W/ CRIMPED EDGE,
A (Min.)
2.000" \\ / - GALVANIZED

) A :
l ~ c%ep 455  STEEL
ﬁ'ﬂ'ALA % i

12.500" (EFFECTIVE WIDTH)

@) PANEL

Q5
SCALE: 3/8" = 1" S0

COMPONENTS ISOMETRIC VIEW

1.350" 1.350" o,
[ T
- 500" ;
\\-.—/,

o~

0.039"
(Min.)
GALVANIZED STEEL
@) END PANEL
SCALE: 3/8" = 1"
3 CONCRETE ANCHORS g <
Hox. (SEE SCHEDULE ON SHEET 8 & 7 OF 16) Vox. S/ CRIMPED EDGE. 7
1" Min. ; 1 Min. \\\._ -
° ° / /° -} \h"ﬁ----._.__—_———"""
T T DETAL B
ROUNDED CORNER @ ENDS OF PANEL'S
END LIP W/ CRIMPED EDGE.
v // A EQ (N.T.S.)
/\/ A
/ ~
T
____-———~'—-7L7“*\U" SED
PRODUCT REVISE! .
° PP S . Senap W da
BOLTED PANELS W/ as complying with the Flor
UNBOLTED PANELS ; I
(SEE_SCHEDULE ON lpa-20304" M3 W/ BuidingCode g2 4|
SHEET 5 OF 16) 7/8"%3/32" WINGNUTS @ Aecepisnee Ne© 5= .
EA OVERLAP (SEE SCHEDULE ANy 3 of
oL QN SHEET 6 OF 16) : Eapivation late
v / 4 £ :
v Y A a %;mg Tads preaust Contrel
\ . Sivision
[ ol o] & & o] & o] @ e & lo| &
" / CONCRETE_ANCHORS vl ] locity Hurricane Zone
,:Lx, (SEE SCHEDULE ON SHEET & & 7 OF 18) ,,73,,(. F.B.C.(High Velocity H )
1" Min. 1" Min. » LG.
" » 0.039" GALVANIZED STEEL STORM PANEL .
STORM PANEL ELEVATION scat 174" = 1 DRAWN Br:
o 1/4" Max. GAP : 9/15/05
::::§ 1/4" Mox. GAP Tl / IILIECO INc x ROBICO SHUTTERS, Inc. DATE
N VNl AN TN TN, b N TN C@o_:g_% . : 4800 S.W. 51st STREET
DAVIE, FL. 33314 —
N N— N— ) — N— 5.71-.4’51-1{/1;/ T_%E‘;'T ,g,esg‘.‘ J%g,evllggl\ﬂ?mmgxﬁsogp ?ﬁﬁyd Phane : (954) 689-7545 . Fox : (954) €89-8797 05-289
_‘S_'MA:A ” " ' % z 7/ o Frone  (302) 87;;’52;2&;;’;; (a08) &71-1831 REV. Na DESCRIPTION o41E_| REV. Mo DESCRIPTION BATE DRAWING No
SCALE 1/8” = 1 ; WALTER A. TILLIT Jr., P. E. ! oLD 03-085 19/15/08 3 - ——t SHEET 1A OF 16
FLORIDA Lic. # 44167 P = - : - S




2.187"

30"

.084"

0.250"~—|-¢— ¥

1.250" —

R Q.
250 "1
\

33757

093"

.100"

093"

375"

R0,
B | —
u N\

2.1257

o/

FULL R.

2.000"

@ _‘h" HEADER

SCALE: 1/2" = 1"

.3907

8.344"
/
~

L N—a.625" ,
[m]
957"~

t = Min. .085"

® KEY HOLE WASHER

3105-H154 Alum. ALLOY
SCALE: 1/2" = 1"

F—1.407" —=
‘-1.063"1

.39

.094"

063"

0.039" (Min.)
GALVANIZED STEEL

* %

g

375" @

43878
875" ¢

g

.063"

.1875"

125"

DETAIL 1
SCALE: 2" = 1"

* ALTERNATIVELY, USE WING NUT W/0UT
MONOLITHIC WASHER W/ ADDITIONAL
7/8"#x3/32" WASHER (STAINLESS
STEEL OR NICKEL PLATED STEEL).

FULL

R,

~| 30"

374"~ —

656"

~——1.671"—

~—1.343" —

i
188"+ o+ 8
i
1
1

093"l T~~—_R.062"

2.000"

— 080"

@) _F’_TRACK ANGLE

COMPONENTS

SCALE : 1/2" = 1"

2.000

@ ANGLE

SCALE: 172" = 1"

1/4"¢ S.S. STUD
RIVETED TO ANGLE

—-—]: .125"

® 12 1/2* o‘c.—Tl:
. % —
(7) FLAT PLATE WITH STUD

SCALE: 1/2" = 1"

RIVETED TO ANGLE
@ 12 1/2" 0.C.

.750"
—

1/4" @ 5.5, STUD *'-750"r

AARLAARALAARARY
(LRI LT

SCALE: 1/2" = 1"

-@AMGLE_MH_SEZD

i

L
.

“u:. 125"

i

i

1/4"8 S.S. STUD
RIVETED TO ANGLE

8 12 1/2" 0.C.
—

v &

M \

—

1

@B ANGLE WITH
REVERSED STUD

SCALE: 1/2" = 1"

T VARIES
| SEE DET.
£ g A 1/11 & 2/11
5/16"# HOLE FOR
STUD LOCATION AT
EVERY PANEL OVERLAP
x
8
N
N
Min. 15" LONG
4
[
w0y
N
}
f
PRODUCT REVISED .
2.000" g8 complying with the Florida
Buiding Code
. Acseptance No© 5-.0927.0 !
@ : 7" 1 . U IN GLE Expiration Date 2008

SCALE : 1/2" = 1

ﬁéma i

Division

roduet Contrsl

F.B.C.(High Velocity Hurricane Zone)

L.G.
0.039" GALVANIZED STEEL STORM PANEL|  prawn sr:
8/15/05
TiLIEC O . \| ROBICO SHUTTERS, Inc. | “ux
INC. 4800 5.W. 51st STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05-289
6355 N.W. J&th. St., Ste. JO5, VIRGIMA GARDENS, FI. 33166 Phane : (954) 889-7545 . Fax : (954) 689-8797
Phane : (305) 871~1530 . Fax : (J05) 871—1531 DRAWING No
EB-0006719 REV, No DESCRIPTION DATE | REV. No DESCRIPTICN DATE
WALTER A. TILLIT Jr., P. E ! oLD 03095 9/15/08] 3 - -
FLORIDA Lic, # 44167 7 . 1 ~ ——| SHEET 2 OF 18




CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEET 6 & 7 OF 16)

Max.

— l——_250"

=
POURED ; T
CONCRETE & ! l
REQUIRED [ r
%) | 1
| |
| 1
| i
| |
t 1
]
! I
I : }
|
(SEE SCHEDULE || |
ON SHEET 6 OF 16) iy i
\FOR Min. SEPARATION ! |
| TO GLASS. ' {
! | |
I ' i
[ /\’ ) A‘/
T A vV T
1
{ .
! I ’ |
{ I ; 1
| | 1
! I | I
I i I
! I i |
{ ! l
! |
| |
| [
| ! |
| { ]
e\l ! |
g ! i
POURED CONCRETE i b
OR CONCRETE | I
BLOCK WALL A I |
REQUIRED : ! {
| i
_____ ] i !
JHETTAR D
AV | ——

L” Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 6 OF 16).

&

CONCRETE ANCHORS —/

(SEE SCHEDULE ON
SHEET & & 7 OF 16)

@

Conl,

OR Cont,

@

SECTION @ ANCHOR

Cant,

— SECTION 2

CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEET 6 & 7 OF 16)

POURED
CONCRETE
REQUIRED

L
|

m
[

CONCRETE ANCHORS
(SEE SCHEDULE ON
SHEET 6 & 7 OF 16)

N

l-.250"
J Max.

e

|

(SEE SCHEDULE
ON SHEET 6 OF 16)

—Q

POURED .
CONCRETE — W
REQUIRED

NN

E::::i

Cont.

1/4'6-20 5.8, BOLTS
W/ 7/8'9x3/32" WING
NUT OR #10x3/4"
SMS @ &% o.c.

1" Min.

500"

T

e R

N

CONCRETE ANCHORS

(SEE SCHEDULE

ON SHEET 6 & 7 OF 16)

POURED CONCRETE
REQUIRED

|
I
\ Cant.
!
!

[~72/8"0x3/32" WING
NUT @ EVERY STUD
e 12 1/2" o

Cont.

1/4"¢—20 5.5, BOLTS
W/ 7/8"ax3/32" WING
NUT OR #10x3/4
SMS. @ 6" o.cC.

|
t
|

N

7/8"%x3/32"
WING NUT ©
EVERY STUD

@ 12 1/2° 0.C.

T 4%

(SEE SCHEDULE
ON SHEET & OF 16)
\FOR Min. SEFARATION
I To GLAss,

-

POURED CONCRETE
OR CONCRETE
BLOCK WALL r

REQUIRED
1

e e

—®

7/8"8x3/32" WING

—NUT @ EVERY STUD
/_ @ 12 1/2" 0.

L* Max. PANEL LENGTH

(SEE SCHEDULE ON SHEET 6 OF 16}

/

SECTION @ STUD

W.
— SECTION [

ST
SCALE: 3/8" = 1"

@

OR Cont.

SCALE: 3/8" = 1"

— SECTION 2

A

(SEE SCHEDULE

ON SHEET & OF 18) I
FOR Min, SEPARATION
TO GLASS.

@Dom
| ;

7/8"0x3/32" WING

L@ 12 1/2" O.C.

\

NUT @ EVERY STUD

" Max. PANEL LENGTH
(SEE SCHEDULE ON SHEET 6 OF 18}

/

i /
Ly
750" \
Y

POURED /
CONCRETE
REQUIRED .,
CONCRETE ANCHORS o
(SEE SCHEDULE ON
SHEET 6 & 7 OF 16)
= SECTION 24 SCALE: 3/8" = 1"

EDGE OF
WALL OR' SLAB
(Alt. CONDITION)

s e e s

on T

SCALE: 3/8" = 1"

— SECTION 4

E. D. = EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 6 OF 16)

INSTALLATION.,

NOTE FOR COMBINATION OF SECTIONS :

MOUNTING SHOWN ON SECTIONS 1 THROUGH 4
CAN BE COMBINED IN ANY WAY TO SUT ANY

PRODUCT REVESE@
s complying with e
Puiding Code

Accepteace N, () 5’
Yxpiration Date0l

Fiteim ade

1
%
| |
}
| "a —
| -~ - Q
! & " L
| % | 1 Q Q
| © } | E ! ;
|
I
‘ g o ; | -
n x
- . 5] 1 I |
| FOR Mr,g. ng;gmno;v z ! | 3 (SEE SCHEDULE { g
! - (SEE' SCHEDULE i i Ly ON SHEET 6 OF 16) ! W
I ON SHEET 6 OF 16) Il ! ! 2 i FOR Min. SEFARATION ' s
i [ =] | ! a
} 2 "FOR Min. SEPARATION | ! ! 8 i TO GLASS. | | |_®
I W : TO GLASS. ! : § Il : } I %
L 3 | | | [ t
' 0 ' ! g i i
| /\, i I i ] i !l ! H
| { i a —N— —A— H
T I\/ \V4 i A [ A . T I\/ T '\r 1 T (4
; ! \E- I = —— z : I x
1 | l © |
i | i 1<)
| : | 8 { : | § i | §
! { : g { I } | o i | \ 72/8"ax3/32"
| I | i p - | WiNG NUT ©
! . g , 1 ! L7/8"0x3/32 g v , U vy ST 3
! ! | 3 i i (K ! ] ® 12 1/2" 0.C. X
I i | ! & | , |12 1/2"0c. % ! | k e
} t b erexssa mve 8 } = 3 | §
[ 1 | L~ NUT @ EVERY STUD ‘ ! Yy p _ ! :
{ ' | T @12 1/2° oc. o 4 I i § a i
| . [ Li : JI I ; u {
| Cont. E I | POURED CONCRETE .
| [ I OR_CONCRETE | o ) POURED CONCRETE L
i | 1 gt_g%? L T ] 4\@ ] OR CONCRETE .
L (%2 Cont BLOCK WALL
[ ——— A . ———
l / / EDGE OF — =t REQUIRED i /f
i WL o e, s | 1
CONCRETE . 8 T g
) 1/4°2-20 S.S. BOLTS 8 .
REQUIRED v CONCRETE ANCHORS W/ 7/8"8x3/32" WING CONCRETE ANCHORS 1/4'8~20 5.5, BOLTS
. 750" (SEE SCHEDULE NUT OR #10x3/4" 'SEE_SCHEDULE Wﬁ 70/5 ¢x1:0/:7724'y/mo
CONCRETE ANCHORS ON SHEET 6 & 7 OF 16) cont SMS @ 8" 0.C IN SHEET 6 & 7 OF 16) / Gant. gMTS @)#E“XOé‘.
(SEE SCHEDULE ON E D '
SHEET 6 & 7 OF 16) S

SCALE: 3/8" = 1"

Sivision

F.B.C.(High Velocity Hurricane Zone)

¢ Florida

21.0]
2008

Zue; Contrel

FLORIDA Lic, # 44167

L.G.
0.039" GALVANIZED STEEL STORM PANEL|  prawn av:
5/15/05
TiLlECO e \ ROBICO SHUTTERS, Inc. | "o
INC. 4800 S.W. 51st STREET
TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05 —~289
£355 N.W. 36th. St, Ste. JO5, VIRGINWA GARDENS, Fl. 331661 Phone : (954) 689-7545 . Fax : (954) 689-8797
Phone : (305) 872-;’_%26;;’; 9 (Jas) 8711531 RV, Mo DESCRIFTION DATE | REV. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr., P. E. ! oLp o3-ces  18/15/05| 3 = = SHEET 3 OF 16

2z

- 4




CALK—=IN OR ELCO
mala/female "PANELMATE"
OR CF TAP-GRIP

(SEE SCHEDULE
ON SHEET 6 & 7 OF 18) \

CONCRETE ANCHORS
(SEE SCHEDULE ON

\

=

750"

POURED CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

D.

AN

1/4"8-2061" M.S. '
W/ NUT @ EVERY ||
OVERLAP & AT |
MIDLENGTH OF

PANEL FOR |
SECTION & ONLY. =i

]

—®

SHEET 6 & 7 OF 16
POURED CONCRETE _\
REQUIRED D _\«

1/4'8-20x3/4" S.S.

s

\
/\/ i ‘

/\, 1

I\/

(SEE SCHEDULE
ON SHEET 6 OF 15)
FOR Min. SEPARATION

GLASS.

T

—-——-L———b b o o

/I

E. D.

POURED CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

e <>-.—_~———<i<»-—__——-——————————————————————

i kv

]

L™ Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 6 OF 16)

(SEE SCHEDULE
ON SHEET 6 OF 16)

BOLTS W/ 7/8'8x3/32"
. Cont. wine NUT @ 6" a.é
8
g (" i
- .
e TS _ "‘J %g‘]
N
F 3. 1]
f et
T .
; N
u | 1 | Cant.
| I i
| | [
I | |
I I !
\- Mi | [
I | |
I I |
I I [
I | [
| I [
| b -
! 1 i i
I i i
| . O
' I I
| | !
I I i
I A
% Av
V

FOR Min. SEPARATION
TO GLASS.

7/8'ex3/32"
WING NUT @
EVERY STUD
® 12 1/2" o.C.

L” Mox. PANEL LENGTH (SEE SCHEDULE ON SHEET € OF 16)

@ CUT END PANEL

o

2'%4"%, 125" 3105-H14
OR 6063~T6 ALLOY
Cont. Alum. ANGLE

CASE 4 (Plan)

SCALE: 1/4" = 1°

POURED CONCRETE OR
CONCRETE BLOCK WALL
REQUIRED

2" Min,
CONCRETE ’
ANCHORS
@ 12" 0.6 ™~n

N

POURED CONCRETE
OR CONCRETE
BLOCK WALL
REQUIRED

l—a e

<

CONCRETE ANCHORS
@ 12" 0.C

N

Ez" Min:

END CLOSURES DETAIL

Q
L

=

POURED CONCRETE

2"%2'%.055" TO 2"x5",055"
Cont, Alum. ANGLE OR

| -
R o SO e, e e
R / R 18 GAGE GALVANI
% | REQUIRED Lo POURED CONCRETE
f > STEEL OR CONCRETE BLOCK
| A WALL REQUIRED.
CALIK;;N Of Eﬁ%ﬂu E / M
male/femcle ') ATE" 1/4"8~20x3/4" S.S.
4(7;;_ GF TaP~GRIP ng@’*g},ﬁg{,ﬁ’fﬁﬁ BOLTS W' 7/8ax3) 02" w pnEpT
SHEET 6 & 7 OF 1§ ad SCALE: 1/4" = 1 SCALE: 1/4" = 1
ON SHEET 6 & 7 OF 16 Cont. :
' ) CALK~IN OR ELCO male/female
"PANELMATE" (SEE SCHEDULE
: POURED CONCRETE ON SHEET 6 & 7 OF 16)
WALL MOUNTING INSTALLATION WALL MOUNTING INSTALLATION EXISTING_TRIM AT TOP, BOTTOM OR
BLOCK WALL SIDES OF OPENING AS APPLICABLE
REQUIRED . A
(D. M) — SECTIONS 6 & 6 BUILD—QUT- SECTION 7 \ / R
SCALE: 3/8" = 1" SCALE: 3/8" = 1" % NEW 1* WIDE x VARIES / Mr / X /m/ PRODUCT REwgiﬁ%‘iaﬁé&
: = : = x x o the
. ‘ 1/8" THICK Alum. TUBE \ It / TN &8 «;ggﬂ@‘y‘mgjﬂm
v v OR 1% x P. T, T Buiding Coce o5 - ol
D6E OF WOOD PLATE SPACERS o - Aeeptanse No 09 = g
-4 EXISTING OPENNING A Expiration DatcQ o L& Lo
@ or (B BENT W/ ANCHORED
E D. = EDCE DISTANCE EXISTING STUCCO/WOOD b FRONT & REAR FLAT He.
(SEE SCHEDULE ON ] Vi BAND I %Al\ﬁﬁ PARALLEL Ikiami Dade
SHEET 6 OF 16) « /] * NEW 17 WIDE x VARIES x 178" L : Division
. A1 Alum, TU 1" % VAR )
a a4 X | P. T. WOOD PLATE SPACER CONCRETE ANCHORS oo oAGK Cont (NEVER CUT END PANEL}
i o A i e nt.
I I U BERIND ThAcK (SEE SCHEDULE ON I ) Mﬂﬁﬂ) VALID FOR DIRECT MOUNT INSTALLATION ONLY & CERTIFIED
1 l SHEET 6 & 7 OF 16) Y SCALE: 1/4" = 1" PANEL INSTALLATION AT WALLS W/ SURFACE LEVEL
<—___|—> ! <—:{—> IIzz7 : wLALL = VARIATIONS WITHIN 3/4" : ; ; one
| POURED CONCRETE F 4 F.B.C.(High Velocity Hurricane Zone)
R —— ! CONCRETE BLOCK WALL Lo
NOTE_FOR COMBINATION OF SECTIONS. : CONCRETE ANCHORS 7 Hih. TRACK Cent.  prouiRED 0.039" GALVANIZED STEEL STORM PANEL|  srawn sv:
MOUNTINGS SHOWN ON SECTIONS 5 ON SHEET 6 & 7 OF 16) 3" Mox. . ; "
Max. SPACER LENGTH IS 6" 9/15/05
THROUGH 7 CAN BE COMBINED IN ANY Min. SPACER HEIGHT TO BE
WAY TO SUIT ANY INSTALLATION. X |> CTION X — EQUAL OR GREATER THAN lL E c o ROBICO SHU TTERS’ In c' DATE
TRACK'S HEIGHEM INC. 4800 S.W. 51st STREET o280
TILLIT TESTING & ENGINEERING COMFANY DAVIE, FL. J3314 -
DETAIL FOR SPACERS REQUIRED AI TOP OR (LT TESTING & ENGINEERING COMPANY| _ DAVE Pl S04 164) 689-8797 05-28¢
BOTTOM TRACKS ADJACENT TO STUCCO/WOOD BANDS e Bgen | L e e e e | s o :
5¢ALE: 1/4" = 1 WALTER A TILLIT Jr., P. E, Y oLD 03-083 9/15/95} : = =1 suEer 4 oF 16
FLORIDA Lic. # 44187 — - -

080" 3105-H154 SHEET

ALTERNATE LEG LOCATION

SCALE: 1/4" = 1

POURED CONCRETE
OR CONCRETE i
BLOCK WALL i
REQUIRED l

1/4*0 BOLT @
24° 0.6 W/
7/8"8x3/32"
e WING NUT

4"x4"%,093" 3105-H14 OR
8063-T8 ALLOY Lont. Alum.
ANGLE OR 18 GAGE Golv.
STEEL ANGLE

2%3"%.093" 3105 H-14 OR
6063-T6 ALLOY Cont. Afum.
ANGLE WITH ANCHORS AT 12" O.C.




SEE SECTIONS 1, 3 & 4
ON SHEET 3 OF 18

6 | LENGTH & DESIGN PRESSURE RATING
CONCRETE ANCHORS Y OF +55.0 p.af, -72.0 p.st.
(SEE SCHEDULE ON x| (3)1/4"a THRU BOLTS . CONCRETE ANCHORS (SEE SCHEDULE ON b
sweer 6 & 70 16) N _do—moo l Hy WASHER & NUT. . e e SHEET & & 7 OF 16) o,
~ / 2%2%1/4"%0'~6" ™ 2'%2%1,/4"x0'~6 i 1 19 %,
N ! | /(11um. ANGLE _l 1" — ?é'é?_’; MGLE o
4 %\ P —@ 6063-T6 ALLOY) : Mo -
POURED —E==0IiC §§ N T T ; ® | (hp 1oP & BOTTOM) ‘I - (Typ. TOR & BOTTOM) s [ s . 1 s -
/ " ™~ T T T T T T T T T T g
CONCRETE / 4N == e = ; MULLION \‘ ] | ]
REQUIRED j 7 Ko | | ' | MULLION
L ! ! Lo i r N (3)1,/4"a THRU BOLTS R A A
) L i P P v -4 foTa VARIES ™ .- W/ WASHER & NUT. v ;
u ; | | | / 4 n v
\ | o / . (2) 3/8"¢ POWER BOLTS
i Lo ’ o | ANCHOR W/ 2" Min. IS ,
\ ¢ hmsmmmgleoooooooo /" PENETRATION INTO coo=g 2) 3/8"a POWER BOLTS
| I = CONCRETE CR GROUT ~ fWCHoR W/ 2" Min. A/1 _.__L/I
e o FILLED BLOCK N PENETRATION INTO =4 =4
i Coo e in] CONCRETE OR GROUT
! . 4" , FILLED BLOCK
[ { [
! i -
. # sl
A A A A
V I 12
| | | A
R ELEVATION v v =
] SECTION X-X . ] 1] JRRY
| | ) ” ] -~ RN e \\
| 1 i SCALE: 1/4" = 1 . wo_oqm / N RSN NS TSN S VU U UUUIUR NS AUV NN SUUON S VU S AN U I v A b | 4 A
SN2 T N / SCALE: 1/4" = 1 Sl el \lellsllel 1518l 1z A Y 2
FOR Min. SEPARATION| 1 { [re——— - = St e \|
| 70 EXISTING GLASS | Lo ! | ! i
o LETAIL 1 \ e e Ao ,
o | \ [T e M .
| 1 I 4 A -
|y Ma————————  STORM PANEL W/5'-0" Max. PANEL S MULLION * (SEE SCHEDULE ON THIS SHEET, .
| £ A LENGTH & DESIGN PRESSURE RATING SEE DETAL 1/ » 8 ) v \
Cant. [ ) | OF +55.0 paf, —72.0 p.af. // | o T M SEE
Cet 5 Dot maessone mavc —] 7 DETAL 2
W/ #14x3/4" : OF +55.0 psf, ~722.0 pat A A A
.0 p.s.f., —~72.0 pa.t \ v
%%-%"f‘fjf r MULLION - 6063-T6 ALLOY ! )
r R (SEE SCHEDULE ON THIS SHEET) 9:.
‘ Q3§ I
N ¥
" |
i
: i =1} (2) 3/8"8 POWER BOLTS ,
| T T ANCHOR W/ 2" Min. _ 0
i c b ! PENETRATION INTO o 3" .\
| } b @ W/ F1ax3/a" CONCRETE OR GROUT 4.500
EDGE OF EXISTING | ; ! ! 55 'SMS © 6" oOcC. Y HI" FILLED BLOCK -
WINDOW OR 5.6.0. | j o 2 $ et ]
I : ! I d v o =1 ! ® A A A
i i Lo STORM PANEL W/8'~0" Max, PANEL | y (3) 1/4° THRU BOLTS o A A
l i I LENGTH & DESIGN PRESSURE RATING —— — W/ WASHER & NUT. v
! ! b OF +55.0 pat, -72.0 p.s.f / T~ N A1 A/l
| | t i +32.0 p.s.f, ~72.0 p.asf T /_
i | P A —— muLLion — N
i
| | . ) ' B e : S S Y Y 1 A 3 :
; A, I Al mtmzossgnacasnoahod Alum. ANGLE —
T A T v | \/ (6063~T6 ALLOY) 500"~ —soof %oy | vox. MULLION SPAN
! ! | SEE SECTIONS 2 & 24 “zza  (Typ. TOP & BOTTOM) @ T 8§ o
! ! ON SHEET J OF 16 Y[II> N N 1 ﬂ]}
' AT | SPLIT_STORM PANEL ELEVATION scuc 1/8" = 1"
1 . i ' N
| / | |
: / E oo EDGE OF WALL
| , n o ELEVATION SECTION Y-Y R
1 ) {
s W7 A2 CALE: I SCALE: 1/4" = 1"
R / (Alt.” CONDITION) SCALE: 1/4" = . =
4
POURED CONCRETE DETAIL 2 PRODUCT REVISUD,  in
REQUIRED a5 complying with the ¥i0
Buidé@g@@a{g 05-0927- o/
CONCRETE ANCHORS Acceptante No_{ o
ogureD concrer (S Sonesie MULLION SCHEDULE Esgirpon D2 7°¢
CONCRETE BLOCK WALL | ON SHEET & & 7 OF &) / [/
REQUIRED - ’ . e
o i STORM PANEL W/8'~8" Max, PANEL Max. MULLION REQUIRED Min. By Ll et Comirot
1\ LENGTH & DESIEN PRESSURE RATING SPAN (Ft.) * TUBE MULLION ** Miinmt Dede@fo
OF +55.0 p.a.f, —72.0 p.af. Bivision
\
CONCRETE ANCHORS . < 4’6" 2" x 3" x 1/8"

(SEE SCHEDULE
ON SHEET 6 & 7 OF 16)

SEE SECTIONS 1, 3, & 4
ON SHEET 3 OF 18

f poledindd 3

SCALE: 3/8" = 1"

NOTE: MULLION CAN ALSO BE INSTALLED W/0 STORM PANELS ON TOP
OR BOTTOM S0 THAT IT IS LOCATED AT TOP OR BOTTOM OF OPENING.
(ONE PANEL OPENING W/ TUBE TOP & BOTTOM)

STORM PANEL W/5'-0" Max. PANEL

> 4'-6" T0 5'-8"

2" x 4" x 1/8"

L H , " " " 1 "’
>.5'-8" T0 &'-10 SR
> 6'-10" 10 8'-0" 2" x 6" x 1/8"

* SPANS VALID FOR DESIGN PRESSURE RATING LOADS OF

+55.0 p.s.f, -72.0 p.s.f.

L1

TO STORM PANEL'S LENGTH.

MINIMUM TUBE'S DIMENSION SHALL BE ORIENTED PARALLEL

D=

e

F.B.C.(High Velocity Hurricane Zone)

IlLIECOmc.

EB-0006719

FLORIDA Lic, § 44157

TILLIT TESTING & ENGINEERING COMPANY
8355 N.W. J6th. St, Ste. 305, VIRGINIA GARDENS, Fi. 33166
Phana : (305) 871-1530 . Fex : (305) 871-1531

WALTER A TILLIT Jr., P. E.

4

0.039" GALVANIZED STEEL STORM PANEL DRAt}ﬁ' ar:
89/15/05
ROBICO SHUTTERS, Inc. baTE
4800 S.W. 51st STREET
, FL. 333 —
Phone @ (954) 63-\-”;.-54?. Fax,:4 (954) 6898797 05-289
AEV. Ne DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
1 OLD 03-095 3/15/05 E] - - SHEET 5 OF 16




(VALID ONLY FOR PANEL INSTALLATIONS AS PER SECTIONS 1 THRU 7, ON SHEETS 3 & 4 OF 18)

MAXIMUM DESIGN Max. PANEL LENGTH APPLICABLE TO SECTIONS
PRESSURE RATING L (A, “’N’M‘;’g gf:gg’”’o” c g/cg/%mv # AND ANy COMBINATION

W (p.s.t) (SEE SECTIONS) OF THEM
+58.5, -72.0 7'-5" OR LESS 2 1/4" UNBOLTED 1 THRU 5 & 7
+55.5, —~72.0 >7'-5" TO 8'-8" Mox. 2 3/4" UNBOLTED 1 THRU 5 & 7
+58.0, ~72.0 | >8'-8" TO 11'-2" Mox, 212" * EOLI&;DOGERﬂ%éENGTH 5

* BOLTED W/ 1/4'9~20x1" S.5. M.S. & WINGNUT AT OVERLAP & MIDLENGTH OF PANEL.

(VALID ONLY FOR PANEL INSTALLATIONS AS FER SECTIONS 1 THRU 7, ON SHEETS 3 & 4 OF 16)

MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = J 1/2" »« APPLICABLE TO
SECTIONS # & MAXIMUM PANEL
DE;IG(‘Q ngw TAPCONS CF TAP-GRIP CALK—IN PANELMATES v compmron | LENGTH "L” ()
= | 7o cONERETE| TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | To CONCRETE| TO MASONRY OF THEM
6" N/A N/A N/A 6" N/A 6" N/A 1 (TOP)
&’ 6" N/A N/A 6" 6" 6" 6" 1 (80TTOM)
6" N/A N/A N/A 6" N/A 6" N/A 2 (T0P)
6" N/A N/A N/A 6" N/A 5" N/A 2 (BOTTOM)
+55.5, ~72.0 6" N/A N/A N/A 6" N/A 8" N/A 3 (T0P) 7'-5" OR LESS
6" 6" N/A N/A 6" 6" 6" 6" 3 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 4 & 7 (TOP)
6" 6" N/A N/A 6" 6" 6" 6" 4 & 7 (BOTTOM)
N/A N/A 6 1/4" 6 1/4" 12 1/2" 6 1/4" 6 1/4" 6 1/4" |5 (TOP/BOTTOM)
— SEE SHEET 8 & 9 OF 16 FOR ANCHORS TYPE & SPACING FOR PRODUCT REVISED
INSTALLATIONS INTO WOOD FRAME BUILDINGS. ANCHORS LEGEND a5 complying with the Floride
Puiding Code 27- /
ANCHOR L D o= s A 05’0 o o
*K WAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS VIN. £ D - EDoF bEmANCE gf;ipf@‘:g; 2008
3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" REDUCE TYPE SPACING Y i
ANCHOR SPACING BY MULTIFLYING SPACING SHOWN ‘ON SCHEDULE ’
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK~IN TAPCON,/ ” Mg Dadg
ANCHORS IS 2 1/2"), PANELMATES 3.0 Division
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING
OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM
SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS CALK—IN 2.5"
LEGEND. . . )
F.B.C.(High Velocity Hurricane Zone)
CF TARP-GRIP 0"
FACTOR 5.0 » L6
_ 0.039" GALVANIZED STEEL STORM PANEL|  praww av:
ACTUAL £ D, b Arzgfﬁ%_s CALK~IN CF TAP-GRIP 4/15,/05
‘ IILIE co ROBICO SHUTTERS, Inc. DaTE
3" 86 75 1.00 INC. 4800 S.W. 51st STREET
e ~ TILLIT TESTING & ENGINEERING COMPANY DAVEE, FL. 33314 05-289
2 172" 71 .50 .80 6355 N.W. J6th St Ste. 305, VIRGINA GARDENS, FI. 33166 Phone : (954) 689~7545 . Fax ; (954) 689-8797
. Fhone : (305) 871~1830 . Fox : (305) 871~1531 DRAWING No
. Z'V%’ EB-0006719 a4V, No DESCRIPTION DATE | RV, No DESCRIPTION 0ATE
2 .50 - - WALTER A, TILLIT Jn, P, E. ) aip o3-oos  lesiajos| 3 = | sHEET B OF 18
FLORIDA Lic, # 44187 2 ~ ~ 4 = o




(VALID ONLY FOR PANEL INSTALIATIONS AS PER _SECTIONS 1 THRU 7, ON SHEETS 3 & 4 OF 16)

MAXIMUM ANCHORS SPACING FOR E. D. = 3 7/2" b APPLICABLE TO
MAXIMUM SECTIONS # & MAXIMUM PANEL
DESIGN LOAD TAPCONS CF TAP~GRIP CALK—=IN PANELMATES ANY covBiNaTion | LENGTH 7 (ft)
W (pst) TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY OF THEM
6" N/A N/A N/A 6" © N/A 6" N/A 1 (TOP)
6" 5:: N/A N/A '6" 5» 6» 6“ 7 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 2 (TOP)
6" N/A N/A N/A 6" N/A 5" N/A 2 (BOTTOM)
+55.5, ~72.0 6" N/A N/A N/A 6" N/A 6" N/A 3 (ToP) >7'-5" 10 8'-8"
6" 8" N/A N/A 8" g" 6" 6" 3 (BOTTOM)
6" N/A N/A N/A 6" N/A 6" N/A 4 & 7 (TOP)
6" 6" N/A N/A 6" 6" 6" &" 4 & 7 (BOTTOM)
N/A N/A 12 1/2" | 6 1/4" | 12 1/2" | 6 1/4" 6 1/4" 6 1/4" |5 (TOP/BOTTOM)
+50.0, =53.3 N/A N/A 12 1/2" 6 1/4" 12 1/2" 6 1/4" 6 1/4" 6 1/4" |6 (TOR/BOTTOM) |>8'-8" TO 11'-2"
+55.0, =72.0| N/A N/A 6 1/4" N/A 6 1/4" 6 1/4" 6 1/4" 6 1/4" | 6 (TOR/BOTTOM)|>8'-8" TO 11'-2"
— SEE SHEET 8 & 9 OF 16 FOR ANCHORS TYPE & SPACING FOR
INSTALLATIONS INTO WOOD FRAME BUILDINGS. ANCHORS LFEGEND
ANCHOR , D = 3 CE
*K MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS VIN. £ D - EDGF DSTAN PRODUCT REVISED
3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" REDUCE TYPE SPACING o5 complying with the Floride
ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE Buiding Code 0927.0)
BY THE FOLLOWING FACTORS. (NOTE : Min. TAPCON/ " Acteptauce N é:ﬁki; o8
E. D. FOR CALK—IN ANCHORS IS 2 1/2"). PANELMATES 3.0 Expiration Date.0
FOR THIS' OPERATION TO BE POSIBLE, REDUCED SPACING
OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM By e itol :
SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS CALK—IN 25" Mk DageZrbluct LU
LEGEND. Division
CF TAP—GRIP 3.0"
FACTOR
ACTUAL E. D.
: TAPCON/ . . ,
PANELMATES CALK—~IN CF TAP—GRIP F.B.C.(High Velocity Hurricane Zone)
n 2 LG.
3 86 73 1.00 0.039" GALVANIZED STEEL STORM PANEL|  praww sv:
2 1/2" 71 50 .80 9/15/05
Z 50 - - / TiLIECO e X ROBICO SHUTTERS, Inc. | “un
iINC. 4800 S.W. 51st STREET
@m% TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05-289
i 8355 N.W. J6ih. St. Sle. 305, VIRGINIA GARDENS, Fl. 33166 Phone ! (954) 689-7545 . Fax : (954) 689-8797
Phone : (305) 8711530 . Fox : (JO5) 871-1531 DRAWING No

L¢7'Z '7&0“

EB-0006719

WALTER A, TILLIT Jr, P. E !
FLORIDA Lic. # 44167 2

REV, -No

DESCRIPTION

DATE

REV. No

DESCRIFTION

DATE

OLD 03085

9/15/05)

3

4

SHEET 7 OF 18




1%3%1/8" (Min.)

Wwoop

A » N
1/4° LAG SCREWS @ 8° 0.C. W/ —p n ALUMINOM TUBE
R 7 1/2" Min. THREADED PENETRATION LS A AN (6063-T5 ALLOY) A ,
TO EXISTING WOOD HEADER. . % ol L3 1/43 1AG SCREWS @ 6" 0.C. W/
. 1/4"8 LAG SCREWS @ 6" 0.C. W, o I . 1 1/2" Min. THREADED PENETRATION
Cont. ) 1 1/2" Min. THREADED PENETRATION R 5 1/4"8 LAG SCREWS © 8" 0.C. W/ Y . . T0 EXISTING WOOD HEADER.
17478 s 1 . TO EXISTING WOOD HEADER. Y, 1 1/2” Min. THREADED PENETRATION - »1'%4"1/8" (Min.) 6083-T5 ALTERNATE W/ STUD THROUGHOUT.
Ao 1/ 18 70 EXISTING WOOD HEADER, ALLOY Alam, TUBE W/ "
“ o drgc l MM ' 8 G L N ﬁ : R 3 / E‘B Gont
13 . PR .
I 8 i by B e A by LOCATE SCREWS AT mibwT |/
”7’] N3 = |3 i - Qé ) OF EXISTING WOQD MEMBER, 7
) n) % 18 R (2" Min. NOMINAL WiOTH) W/ |
‘ ‘ : e ; L n! | 2" Min. PENETRATION. T 7/8%y3/32"
f | -~ . ; = ¥ : : = =" R WING NUT @ EVERY
: : i po § ; | | 500" % STun @ 12 1/2 O.C.
' \I;\ : | : % N } i HOOD, TRUSSES OF RAFTER :
I \7/5"»: /32" WNG b N ] | | 18544 o
-NUT @ EVERY STUD ] P " ] | » —t i
@ 12 1/2" oc. | i | : SMS @ 6" oc
—
f . - Woon HEADER | I [
I | : REQUIRED | |
| / f
I - | |
| [ | |

|
HEADER (SEE SCHEDULE
aaery @9 com } —( KeSDRLT R \® (SEE SCHEDULE §\® ON SHEET & OF 18) __| waon Hewer |
l ON SHEET 6 OF 18) | FOR Min. SEPARATION U ,
| I FOR M%. Gsa;émnou | } TO GLASS, _ (sx SoEDUE |
LASS.
—Li —1—;/1,—l- _l__dl__t_ _lon SHEET & OF ;5)}__
—_ FOR Min. SEPARATION |
(SEE SCHEDULE (SEE SCHEDULE W 70 GLASS, A —A—d
; i ON SHEET &
FOR A;ln. SEPARATION | -0F 18) FOR Min~ (LIMITED TO +55.5,~67.0 psf) Y
E AT 0 ALTERNATIVE 3 e

7/8'2x3/32"
WING NUT @ EVERY
STUD © 12 1/2* 0C.

L™ Mox. PANEL LENGTH (SEE NOTE 1 BELOW,

c
|
|

SEPARATION :
{
|
|

|
|
|
|
|
I
|
!
{
|
|
. ON SHEET & OF 16) :
|
|
|
|
|
]
|
|

2'%6" WO DECK

REQUIRED ¢
NQ FiINISH ALLOWED-\ \

1/4" LAG SCREWS @ 4" o.c.
|_W/ 1 1/2% Min. THREADED
FPENETRATION INTO EXISTING DECK

7/8%x3/32"
WING NUT @ EVERY
STup @ 12 1/2" oc.

/@ Cant.
\ \ L 7/8'043/32"

WING NUT @ EVERY
STUD @ 12 1/2" 0.C

2x4 , .
WOOD PLATE .
REQUIRED
" 1/4'8 LAG SCREWS @ 6" o.c.

1 1/2" Min. THREADED PENETRATION
AT MIDWIDTH OF PLATE

2°%6* WOOD
DECK REQUIRED

~ EQ-50Q —

NG FINISH
ALLOWED

NSTALLATION — SECTION 2 -

SCALE: 1/4" = 1" SCALE: 1/4" = 1"

SCALE: 1/4" = 1"

7/8%x3/32"
WING NUT @ EvERY
STUD ® 12 1/2" 0.6

—®

28" WOOD DECK

. REQUIRED

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
+55.5, — 72.0 psf AND PANEL'S LENGTH UP TO 8'-8" (EXCEPT AS NOTED)

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

C Cont, A Fi

NG FINISH ALLOWED

_1/4" LAG SCREWS @ 4" a.c
W/ 1 1/2" Min. THREADED
PENETRATION INTOQ EXISTING DECK

PRODUCT REVISED .
s complying with the Florida

Buiding Code pE-0 9 27 0 /

Aceepiance Ne
Expiration Date® 5

" jjzl%ﬁ.égﬁé
?v‘giamﬁ Dot eptacuct Control

Division

T F_SECT)
SCALE: 1/4" = 1"
FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

F.B.C.(High Velocity Hurricane Zone)

LG,
DRAWN BY:

0.039" GALVANIZED STEEL STORM PANEL

ROBICO SHUTTERS, Inc. | “ui

/TitlEcom: \

4800 S.W. B1st STREET

W TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05~289
£355 N.W. J6th. St, Sle. 308, VIRGINA GARDENS, Fl. 33146 Phane : (854) 689-7545 . Fox : (954) 689-8797
~% Zz VWC? Phone + (308) B7é;5;gb;;;g: (305) 871-1531 REY. No DESCRIPTION pATE | Bev. Ne DESCRIPTION DATE DRAWING No
. WALTER A. TILLIT Jr, P. E. ! oD 03-085 18718708 3 = — SHEET 8 OF 15
FLORIDA Lic. # 44167 P - - X - -




1/4" 1.D. x 5/8" LONG BRASS BUSHING W/
1/4"0-20x2" 5.5. M.S. @ 12 1/2" o.c.
FOR PANEL LENGTHS UP TO 5'-0" AND

6 1/4" 0.C. FOR LENGTHS UP TO &'-8"
Max. OR 1/4"9-20 ELCO male/female
PANELMATE @ 12 1/2" 0. C. WiTH 1 1/2"
Min. THREADED PENETRATION TO HEADER
FOR ALL LENGTHS UP TO 8'-8" Max.

i

Min:

2"

WOOD HEADER
REQUIRED

750 "——l

Min.

(SEE SCHEDULE,
ON SHEET
6 OF 18)
FOR Min.
SEPARATION
TO GLASS.

E0 EQ

" Mox. PANEL LENGTH (SEE NOTE 1 BELOW)

L. 7507
Min.

2'%4" PLATE
REQUIRED

SCALE: 3/8" =

I

1/4" ,D. x 5/8" LONG BRASS BUSHING W/
1/4"8-20x2" 5.5. M.S. @ 12 1/2" O.C.
FOR PANEL LENGTHS UP TO 5'~0* AND

6 1/4" 0.C. FOR LENGTHS UP TO 8'-8"
Max. OR 1/4"8—20 ELCO male/female
PANELMATE @ 12 1/2" 0. €. WITH 1 1/2"
Min. THREADED PENETRATION AT MIDWIDTH
OF EXISTING WOOD PLATE FOR ALL LENGTHS
UP TO 8'-8" Max.

~ SECTI

7"

INSTALIATION DETAILS ON
EXISTING WOOD BUILDINGS

l— 5007

7/4"6 LAG SCREWS & 6" 0.C.
t 1/2" Min. THREADED PENETRA TON
TO EXISTING WOOD HEADER.

1/4'4-20 S.S, BOLTS
W/ 7/5"0)(.3/.32 WING
Nur'®

o 7" Mirw}

Cont,

1 ]
Y

WOOD HEADER
REQUIRED

250" —-

Max.

—®

I
|
(SEE SCHEDULE I
ON SHEET € OF 16) |
FOR Min. SEPARATION {
TO' GLASS. |

i

|

<

&N

7/8'0x3/32"
WING NUT @
EVERY STUD

e 12 1/2" 0.C

Cont,

-lEO£G FHEQ [—

REQUIRED

1.“ Max. PANEL LENGTH (SEE NOTE 1 BELOW)— ]

ALTERNATIVE 1

WOOD HEADER

) EOEQ (—
— 1
500"-—1

2"%4" PLATE
REOUI ED

Z 1/4"8-20x3/4" 5.5.

1" Min.—
BOLTS W/ /H'WXJ/JZ
WING NUT @ 6"
Cant,

1/4% LAG SCREWS @ 8" O.C.
7 1/2" Min. THREADED PENETRA ION
@ MIDWIDTH OF PLATE.

NQJES:

. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS W/TH DES/GN LOADS UP TO
~72.0 psf AND PANEL'S LENGTH UP TO &'-8

. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL

+55.5,

NOTEFOR COMBINATION OF SECTIONS:

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION,

,7'2\/&:;—

|

o] ' ¥

p OR

i = ¥

2 Nils

! N

1 woop piaE

\ REQUIRED
y

R

WOOD HEADER
REQUIRED

3

[

I—Eo—-*m——l

WOOD PLATE
REQUIRED

SCALE: 3/8" = 1"
NOTE ¢ SHUTTER TRACKS NOT SHOWN FOR CLARITY

PRODUCT REVISED

as complyieg with the Florida

Buiding Code
Aceeptance No O 5

Phtami Dade
Diviston

F.B.C.(High Velocity Hurricane Zone)

/TILTECOme \

TILLIT TESTING & ENGINEERING COMPANY
6355 NJW. J6th. St., Ste. 305, VIRGINIA GARDENS, Fl. J3166
Phone : (308) 871~ 1530 . Fox : (308) 821~1531
EB-0006719
WALTER A. TILLIT Jr,, P. £
FLORIDA Lic. # 44167

M

2 -

- 4 - -

" .G.

0.039" GALVANIZED STEEL STORM PANEL DRA;,N aY:
8/15/05
ROBICO SHUTTERS, Inc. DaTE
4800 S.W. Stst STREET
, FL. 33314 —
Phone : (854) 6£y§54gl. Fax : (954) 689-8797 05-289
REV, No DESCRIFTION DATE REV. No DESCRIPTION DATE DRAWING No
OLD 03-085 3/15,/05 3 - - SHEET 9 OF 16




CONCRETE ANCHORS CONCRETE ANCHORS ’ 1 / 3, 2/ 3, 2A/ 3, \3/ 3 OR 4/ 3 ’ 1 OR 2 ’ 1 OR 2
(SEE SCHEDULE ON (SEE SCHEDULE ON ) CONCRETE ANCHORS (SEE SCHEDULE g
SHEET 11 OF 16) SHEET 11 OF 16) l—-hfa . r \ ON SHEET 11 OF 16) Maﬂ
POURED 1" Min, 1" Min.
CONCRETE - ry = ) ° a )
REQUREDN |  Yeeeee— -t  [EITTooT T (3 St 2 At Rentes el ptbet Rt Bl e il ains Rty tenntl innied A Nl Anty St Bnle ol A e vy ot e it e et ' M sy Sl e
POURED r T ! — [ ! TSRS DRI SO JO ! |
CONCRETE | | | | | ]
REQUIRED i | [ i | I
| | | | | I
| | I | i i
i | i l | [
| i § | I H
R o v
| LD e - D Q v
Lo - s 4 s ~
i sSHEErsc%EDonéEr b N'g o ~ ! S or 12 ! b - (END PANEL) (INTERIOR PANEL) (INTERIOR PANEL) INTERIOR PANEL) (END PANEL)
|FOR Min. SEPARATION | Lo 1FOR Min. SEPARATION || oo ~
|7 10 6lass | b ronsy m I 10 6Lass | i I el &
— 7/8"ex3/32" T — 7/8"ax3/32"
| | /A 1 WING NUT ® EVERY u ’ LS4 | WING NUT ® EVERY &
: % 7 STUD @ 12 1/2" 0C 2 ' A\ S AN——"sp @ 12 12" 06 = @ a @ M= (Q*
i Yy A S e ;
! I ! — 1/4"8x1" MACHINE 3 N s | ‘ - 1/4"8%1" MACHINE 3 ~
1 1/8" Win. 1/ v Séﬁ’ W W/ SPEEDNUTS § 5/8" Min. (CASE )T~ /1 | SéR W W/ SPEEDNUTS § |
(SEE DET. 1/11) %E Ll oDe 12 12" ok § ?SE,A:_MB E;CAzs/Ez;/j ] | Qe 12 12" 0c § A
- A ] Q A A
| e ;- L : i GRSt
I |
| l L < | | b g (ALTERNATE LOCATION
' ! . & ! ! L x AT END PANELS) - ®
| ool g | | P 8 (SEE DETAILS 1/11 L] 7/___
| . g | } P g & 2/11) ST s 5|7\ ALTERNATE LoCATION
1 P | | b @A @ or(?) { Il 4T END PANELS)
! roo g | ‘ v g | \| (SEE DETALLS 1/11
POURED : | L 3 l I L g ! & 2/11)
e AN B i . y | * l
{ x < =
WALL REQUIRED } L $ { ! i ! $ |
{ . Y | | Lo 8 AREA W/NO LIFE SAFETY paneLs AN
L b | ! P le. REGULAR PANELS W/ OR roe o
ALTERNATE LOCATION
EZZ:_/‘ Iﬂ o ! | L W/0 REGULAR TRACKS BELOW) ON LIFE_SAFETY PANEL
1T | { i | ! ; (SEE NOTE 1~
o 1 BELOW)
v @ / I | | | Cont | i |
~g R @ || 1|
' TYPICAL ELEVATION
' < . e P ¥ |AST PANEL TO BE INSTALLED AS
CONCRETE ANCHORS N / SCALE 3/32" = 1" LIFE SAFETY STORM PANEL OPENING SHALL
(SEE_SCHEDULE ON : BoeE O <iap ALWAYS BE PROVIDED W/ REAR HANDLE
SHEET 11 OF 16) POURED | Vo conomon) TO FACILITATE INSTALLATION IF INTENDED
@ Cant. CONCRETE . / ' TO BE INSTALLED OR REMOVED FROM INSIDE
REQUIRED ~ CONCRETE ANCHORS 1 OF STRUCTURE,
(SEE SCHEDULE ON /
SHEET 11 OF 16) E D
W QUL INST.
o " * "
= SECTION 1  scur: 3/5" = 1* — SECTION 2 SCALE: 3/8" = 1 i . 4 @or }D ®\* CR 4 o 3
. , S5 82,
. \
IF? Y YSTEM_INSTALLATI TN N SN N7 SN N ) N/ N2\t
1. LIFE SAFETY STORM PANEL CAN BE LOCATED AS AN END PANEL (FIRST OR LAST PANEL) '/
OR AS AN_INTERIOR PANEL. (ANY PANEL LOCATION IN BETWEEN END PANELS). ©) (4T INTERIOR, PANELS. (8) (ALTERMATE LOCATION
LIFE SAFETY PANELS MAY OR MAY NOT BE INSTALLED ADJACENT TO REGULAR PANELS SeeNOTE 1)
(W/ OR W/0 REGULAR TRACKS.) SECTION B—B PRODUCT REVISED
as complying with the Flerids
2. LIFE SAFETY STORM PANEL CONSISTS OF 0.039" GALVANIZED STEEL STORM PANEL AS Buiding Code
PER COMPONENT 1 , SHEET 1 OF 16 OF DRAWING. © Acceptance No 06— 092 ol
THIS PANEL ALLOWS ITSELF TO BE REMOVED OR INSTALLED FROM THE INSIDE OF Explrption DatecO 8 2 o0
STRUCTURE.
By - .
3. LIFE SAFETY PANEL REQUIRES TOP TRACK TO BE COMPONENT ) & BOTTOM TRACK TO Miami Dadegloduct Control
BE COMPON%TAS PER SHEET 2 OF 16 OF THIS DRAWING. Divisien
COMPONENT (B MAY BE INSTALLED WALL OR FLOOR MOUNTED FOLLOWING SECTIONS 1 & . . .
2 ON THIS SHEET, AS WELL AS DETAILS 1 & 2 ON SHEET 11 OF 16. v F.B.C.(High Velocity Hurricane Zone)
™
4. Min. LENGTH FOR COMPONENT @IS 15" : LIFE SAFETY STORM PANEL SYSTEM o
Maox. ANCHOR SPACING FOR COMPONENT @) ANCHORAGE AT BOTTOM IS GIVEN ON (0.039" GALVANIZED STEEL)
SCHEDULES 1_& 2, SHEET 11 OF 16. 9/15,05
COMPONENT @ MAY BE PERMANENT OR REMOVABLE. ‘ / T' I \ ROBICO SHUTTERS, Inc paTE
, [ ]
; IL ECOINC. 800 S.W. 51st STREET
5. SEE DETAILS FOR INSTALLATION INTO WOOD FRAME BUILDINGS ON SHEET 11A OF 16. W ST B ENGINEERING Boray e £, 3331 05-289
P - 355 NW. J6th, St Ste. 305, VIRGINIA GARDENS, Fl. 33166 Phene : (954) 689-7545 . Fox : (954) 689-8797
SEE SHEET 3 OF 16 FOR DETAIL APPLICABLE TO THE NECESSITY FOR THE INSTALLATION -~ Ve Phone : (308) iy T = DRAWING No
OF SPACERS AT TRACKS INSTALLED ADJACENT AND BEYOND TO STUCCC/WOOD BANDS. / wrzn & T ), : 0 oy-oes_lo/ie/il s - =~ ey 10 oF 18
IC, - - - -




ALTERNATE
LOCATION

AT END PANEL

$ AN
5
C @ A A A 4%
0
\Eg N /
> {
STUDS @ EVERY fi° © ¢
OVERLAP A ~
(12 1/2" o0.c.) 2
TO HOLD PANEL Y &
< \ \ -
B O O o
| — - S :
.' SEE SEE \—/NTER/OR PANEL LEND PANEL ?
- SCHEDULE | SCHEDULE
OR e 3" ——~ FOR Max. FOR Max. 3" —
ANCHOR ANCHOR
OR DIRECT MOUNT SPACING SPACING
1’3" Min.

=
=) ALTERNATE
2. LOCATION
g4 AT END PANEL
L O
§—T\— A A A \-
(A 4]
@&
& !
o} 9
STUDS @ EVERY . //o
OVERLAP A
(12 1/2" 0. ¢.)
TO HOLD PANEL $ .
N \
N
4 N N
Ht b I
.f N egr 0 s M \-——INTER/OR PANEL \————END FANEL
OR i W SCHEDULE Y SCHEDULE !
3" —=t= FOR Max. ~~ FOR Max, ~=—3"
ANCHOR ANCHOR
SPACING SPACING
1'=3" Min.

E. D. = EDGE DISTANCE
P, G _SC T TT INTO CO. D 0 STRUC 'S APPLICABLE ONLY TO SECTIONS 1 & 2 INDICATED FOR LIFE SAFETY STORM PANEL
S ON 8).
SCHEDULE # 1 : (BYW/ WALL MOUNT CONDITIONS TOP & BOITOM W/ E. D. = 3 1/2" * gggggsbg;l% Mox. P/LINI(:'th. LENGTH VINIMLIM SEPARATION
W (5.t (SEE SECTIONS) TO GLASS CONDITION
MAXIMUM APPLICABLE TO
DESIGN LOAD TAPCONS CF TAP-GRIP CALK~IN PANELMATES SECTIONS # & MAXIMUM PANEL +55.0, ~72.0 8'-8" 2 3/4" UNBOLTED
W (pst) ANY COMBINATION | LENGTH "L* (ft.)
70 CONCRETE|TO MASONRY|TO CONGRETE|TO MASONRY|TO CONCRETEITO MASONRY{TO CONCRETE|TO MASONRY OF THEM ANCHORS LEGEND
e ” " ANCHOR -
6 N/A N/A N/A 6 N/A 6 N/A 1 &2 (t0P) | | * MAXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS MIN,
+55.0, -72.0 5°-0" OR LESS 3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2", REDUCE TYPE SPACING
9" 9" 9" 9" 9" 9" " 9" 1 (BOTTOM) ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ‘ON SCHEDULE
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK—IN TAPCON/ .
" ” " ANCHORS IS 2 1/2°). PANELMATES 3.0 9 , =
6 N/A N/A N/A 6 N/A N/A 1 & 2 (TOP) L Do FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING :
+55.0 -72.0 >5'-0"TO 7'-6 OBTAINED USING FACI“Z'OII; quALL NgTOEE rﬁgf's ;HANC%%UM CALK—IN 25" e
“ " M " " " ” " SPACING INDICATED FOR EACH ANCHOR AT AN - . A
9 6 g 6 9 g 9 1 (BOTTOM) LEGEND. ’?27/
6" N/A N/A N/A 6" N/A g N/A 1 & 2 (ToP) | _ . ACTOR CF TAP-GRIP 3.0
+55.0 -72.0 >7'—-8" TO 8 -8 :
9" 6" g" 6" 9" 6" " 6" 1 (BOTTOM) ACTUAL E. D. TAPCON/
PANELMATES CALK~IN CF TAP~-GRIP e
PRODUCT R
3" .86 .75 1.00 i sl
SCHEDULE #.2 : (@) W/ FLOOR MOUNT CONDITIONS AT BOTIOM W/ E. D. = 3 1/2" * ; as complying with the Flor
2 1/2 21 50 .80 Buiding Code 0&-6 27 D,
" — _ Accepinnce N el .
CASE | (STUD @ 5/8" Min, FROM TOP OF ANGLE) CASE Il (STUD @ 3" Min. FROM TOP OF ANGLE) APPLICABLE TO 2 50 Eg ;E’;;ﬁm Date oog
ngfg/Mngu TAPCONS CALK—IN TAFCONS AL SECTIONS # & MAXIMUM PANEL %p
W (nst) ANY COMBINATION | LENGTH ‘L" (ft.) 8y H1e./
TO CONCRETE TO CONCRETE TO CONCRETE TO CONCRETE OF THEM Wiami Dade
N " " " s om Division )
+49.2 —61.5 3 3 4172 4172 2 (BoTTOM) | 7—6" OR LESS F.B.C.(High Velocity Hurricane Zone)
+52.8 —-66.0 3” 3" 4" 4" 2 (BOTTOM) | 7'-6" OR LESS LIFE SAFETY STORM PANEL SYSTEM™ LG
" - - (0.039" GALVANIZED STEEL) DRAWN BY:
el S i “ 1 SRl K e TiLlEco . \| ROBICO SHUTTERS, I w19
ne
» " L L f] . DATE
+55.0 -72.0 2 1/2 2 1/2 N/A N/A 2 (BotTOM) |>7'-6" TO 8'-0 / ILIECO xe. \ won S, s1at STREET
. . TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05-289
+55,0 -72.0 N/A N/A 3" 3" 2 (BOTTOM) |>7'-6" TO 8'-8 8355 N.W. J6th, St. Sla. 305, VIRGINiA GARDENS, Fl, 33166 Phone : (954) 689-7545 . Fox : (954) 689-8797
Phane : (308) 871-1530 . Fox : (305) 871~1531 DRAWING No
EB-0006719 REV, No DESCRIPTION DATE REV. No DESCRIPTION DATE
WALTER A. TILLIT Jr., P. E. ! oD 03-0s5 _ je/15/05| 3 = ~ SHEET 11 OF 16

FLORIDA Lic. # 44167 2

- - [

b




A - 1/4"@ LAG SCREWS @ 8" 0.C. W/ i &

TO EXISTING WOOD HEADER

L\ - /—1 1/2 Min. THREADED PENETRATION ¥ " ¥
1

v H]
' @ y
| 8§ ol |
N = u
g - g
= ! ] o
&
g g

WO0D HEADER
REQUIRED

REQUIRED REQUIRED

WOOD HEADER WQ0D HEADER

e ALTERNATIVE 1 ALTERNATIVE 2 INSTAITATION DETAILS ON_EXISTING
WOOD BUILDINGS FOR LIFE SAFETY

STORM PANEL SYSTEM

7/8"8x3/32"
WING NUT @ EVERY
STUD @ 12 1/2" O.C.

1/4"ax1" MACHINE
SCREW W/ SPEEDNUTS

1 1/8" Min. wmll /

"L” Max. PANEL LENGTH (SEE NOTE 1 BELOW)

— B~ —

|
|
Il
|
|
I
I
|
i
(NTS) (SEE _ ! i o@De 127 1/2" 0.
DET. 1/11) = L
I .': :
| P I—\_—D L
(SEE SCHEDULE | | P o ; I
ON SHEET P - \ -t g
11 OF 15) P o =H ‘ |
FOR Min. | : ] & oR H=—th
SEPARATION | | L e il Rl
TO GLASS. | | | o il W ,

o ki i | N

| i 8 N . .

o . N
| Lo ™ WOOD PLATE
| | { LI . REQUIRED

| , .
| . WOOD PLATE :

I b REQUIRED ,

i

P ¥

b

o

! ]

_”'"- @ Cont.
2%4” PLATE .

EQ 1/4"8 LAG SCREWS @ 6 )/ 1 1/2 B o e 1, ' ’ Bl R da
REQUIRED "0.C W1 1/2" . 3/8" = 1" complying with the Flazh
| fin. THREADED PENETRATION OR SCALE: /8" = 1 ey e A
" 1/47.D.x5/8" LONG BRASS BUSHING W/ NOTE : SHUTTER TRACKS NOT SHOWN FOR CLARITY Acceninace No 0609270/
\/\ , 1/4'8-20x2" S.5. MS. @ 6" 0.C. OR Exniration Dute & 2008
1/4"0-20 ELCO mole/female PANELMATE @ B
g'ﬁ‘_ %c_‘k W/ 1 1/2" Min. THREADED By
NETRATION TG EXISTING WOOD PLATE 3 <
Ritgmi Dad duet Conlrel
N ,S' CT 0 NOTES: Division
1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
SCALE: 3/8" = 1" +55.5, ~72.0 psf AND PANEL'S LENGTH UP TO 8'-8"
2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. F.B.C.(High Velocity Hurricane Zone)
LIFE SAFETY STORM PANEL SYSTEM™ LéG.
(0.039" GALVANIZED STEEL) DRAWN BY:

9/15/05
/TILIEC O : \| ROBICO SHUTTERS, inc. | *i

M TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05289

e 6385 NW. J6lh. St Ste. ggi w;cmm gggm}/?s, 7:53373/68 Phone : (954) 6897545 . Fox : (954) 689-8797
: 871-1830 | Fox : -
%‘L 7&9‘“ Phane : (308) 1;1'51—0006;); g (%) 871 REV. No DESCRIPTION DATE | REV. No DESCRIFTION DATE DRAWING No
WALTER A. .TILLIT Jr., P. E. 1 oD o3-0e8  |9/15/05] 3 z ~f SHEET 11A OF 16
FLORIDA Lic, £ 44167 2 - - 4 = -




GENERAL NOTES: VALID E-Z HANG STORM PANEL SYSTEM

1. E-Z HANG STORM PANEL SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR COMPLIANCE
IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA BUILDING CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.AD. AS TESTED WERE NOT OVER STRESSED, A 33%
INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NQT USED IN THEIR ANALYSIS. A DURATION FACTOR CD 1.60 WAS
USED FOR VERIFICATION OF FASTENERS IN WOOD.

STORM PANEL'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION
1609.1.4 OF THE ABOVE MENTIONED CODE AS PER FENESTRATION TESTING LABORATORY, INC. REPORT # 2032, AS
PROTOCOLS TAS-20t1, TAS—202 AND TAS-203,

2. THIS SYSTEM HAS BEEN DESIGNED TO BE INSTALLED ON THE OUTSIDE OF THE OPENING ACCESSING THE OPENING FROM
THE INSIDE W/O THE USE OF A LADDER OR LIFT. THIS APPLICATION IS VALID WHEN INSTALLATION IS INTENDED TO BE
PERFORMED FROM THE INSIDE OF STRUCTURE.

3. SERIES 1000 INSTALLATION IS APPLICABLE TO SINGLE AND DOUBLE HUNG STYLE WINDOWS WHEN INSTALLATION IS
REQUIRED TO BE PERFCRMED FROM THE INSIDE OF STRUCTURE.

4. SERIES 2000 INSTALLATION IS APPLICABLE TO SINGLE AND DOUBLE HUNG AND HORIZONTAL SLIDERS STYLE WINDOWS
WHEN INSTALLATION IS REQUIRED TO BE PERFORMED FROM THE INSIDE OF STRUCTURE.

5. ALL ALUMINUM EXTRUSIONS TO BE 6063~T6 ALLOY AND TEMPER. (UNLESS OTHERWISE NOTED)
6. ALL ALUMINUM SHEET METAL USED AT CLOSURES SHALL HAVE 3105-H14 ALLOY.

7. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY STEEL, ASTM A-653 GRADE 40 Min., GALVANIZED
STEEL DESIGNATION W/FY= 41.4 ksi (AFTER ROLLED).

8. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS
PER DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH.

9. BOLTS TO BE ASTM A-307 GALVANIZED STEEL, OR AIS] 304 SERIES STAINLESS STEEL, WITH 36 ksi MINIMUM YIELD
STRENGTH.

10. ANCHORS TO WALL SHALL BE AS FOLLOWS:

(A) TO EXISTING POURED CONCRETE:

—~ 1/4"8 TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX OR ELCO TEXTRON.

~ 1/4"¢x7/8" CALK~IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS INC. AND
ELCO TEXTRON, RESPECTIVELY.

NOTES:
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" AND 1 7/8" FOR ELCO
PANELMATES.

A2) 7/8" CALK~IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO EMBEDMENT INTO STUCCO
SHALL BE PERMITTED. 1/4" #—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" Min.
FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS W/Q HEAD, BUT WITH WING NUTS.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE
AS MENTINED IN A.1) AND IN A.2).

(B) TO EXISTING CONCRETE BLOCK WALL:

— 1/4"¢ TAPCON ANCHORS, AS MANUFACTURED BY I.T.W, BUILDEX OR ELCO TEXTRON.

— 1/4"#x7/8" CALK—IN ANCHORS OR ELCO male/female PANELMATES AS MANUFACTURED BY POWERS FASTENERS INC. AND
ELCO TEXTRON, RESPECTIVELY.

NOTES:
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS AND ELCO PANELMATES INTO CONCRETE BLOCK SHALL BE 1 1/4"

B.2) 7/8" CALK~IN ANCHORS AND SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT, NO EMBEDMENT INTO
STUCCO SHALL BE PERMITTED. 1/4" ¢~20 SCREWS USED SHALL BE 1 1/2" LONG Min. SHOULD STUCCO EXIST, AND 1"

Min, FOR WALLS WITH NO STUCCO, AND MAY BE HEADED SCREWS OR ALL THREADED SCREWS W/O HEAD, BUT WITH WING
NUTS. .

B.3) IN CASE THAT PRECAST STONE, OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL
BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS MENTIONED IN B.1)
AND IN B.2).

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S
MANUFACTURER.

11. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE,

BLOCK OR WOOD FRAME BUILDINGS.

12. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL
LENGTH.

13. STORM PANEL [NSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING
REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

14. ROBICO SHUTTER, Inc. E — Z HANG STORM PANEL SYSTEM™ IS PATENT PENDING.

15. (@) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION iNCLUDING LIFE SAFETY OF THIS
PRODUCT BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEWIATE FROM THE CONDITIONS DETAILED ON THIS
DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME
THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE
P.A.D. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO THIS LATTER
THE SITE SPECIFIC DRAWINGS FOR REVIEW,

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD
THAT PREPARED IT.

12. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON A READILY AND VISIBLE LOCATION AT PANEL. ONE LABEL
SHALL BE PLACED FOR EVERY PANEL.

LABEL SHALL READ AS FOLLOWS:

ROBICO SHUTTERS, INC.

DAVIE, FL.

MIAMI~-DADE COUNTY PRODUCT CONTROL APPROVED.

FRODUCT REVISED
as complying with the Florida
fimg C

Milami Dadg ot Contng
Divisien

F.B.C.(High Velocity Hurricane Zone)

E—~Z HANG STORM PANEL SYSTEM™ LG.

(0.039" GALVANIZED STEEL) DRAWN BY:

9/18/08
/TILTEC O e, \| ROBICO_SHUTTERS, Inc. | "

TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 -~
6355 NW. 26ih, Si. Ste. 305, VIRGIMA GARDENS, Fl. 33168 Phone : (954) 889-7545 . Fox : (954) 689-8797 gfw 289
AWING No

hone : (308) 871—1830 . Fax : (J05) 8711531
Phane : ¢ ) EB- 0006;;9 ( ) REV. No DESSRIFTION DATE REV. No DESCRIPTION DATE

e

WALTER A. TILLIT Jr., P. E. 1 00 o3-008  |s/16/08] % o — SHEET 12 OF 16

FLORIDA Lic. 4 42167 2 ~ - 4 > -




15.125" (TOTAL WIDTH)

]

0.038"

(Min.)
GALVANIZED
STEEL

t=1,350"

12.500" (EFFECTIVE WIDTH)

@ PANEL

SCALE: 3/8" = 1"

PANEL'S END LIP
W/ CRIMPED EDGE.

ISOMETRIC VIEW

A W/ CRIMPED EDGE.

4 "
FANEL'S END LIP — e

DETAIL B

ROUNDED CORNER © ENDS OF PANEL'S
END LIP W/ CRIMPED EDGE.
(N.T.5)

(N.T.S)

g

—-”——.725"

3.000"

[

1

E
=

! 5" Max,

® 2°x5"(Max.) Alum. ANGLE

SCALE: 3/8" = 1" SCALE: 3/8" = 1"

COMPONENTS

l———.’f” Max.-———-]
@ 32x3"(Max.) Alum. ANGLE

——”——.125'

2.591"
2.250"-—-‘
AN
; -~
R ——.075" IR
. D F 73/P- N. N
8 R X A\
N >
™ lﬁ- +
35 \4>
0 )
/\"\X B
N
2.470"

@ REVERSED *h” IRACK

SCALE: 3/8" = 1"

SCALE: 3/8" = 1"

— 750"—|

2.591" @

—2.250" @\y
_‘ P

TP, LB
el 075 E 8
o N
W Y
. N
4 , -
Q_,;\r 2.470"—— %,

@) REVERSED "U” TRACK

SCALE: 3/8" = 1"

b, 750"
-l—‘ I—-.250"

i |
I
T R,
" W
SRR

3.750"

250" —-]_L:———

(Typ.)

@ PANEL HANGER : 1 1/4" wie

8061=T5 Alum. ALLOY
SCALE: 3/8" = 1"

055" (Typ.)

I—.750"—_-I

STOP _BAR 11" on6

8083-T5 Alum. ALLOY
SCALE: FULL

F.B.C.(High Velocity Hurricane Zone)

PRODUCT REVISED
gs complying with the Florida
Buiding Code

Aseepiznce Ne. Q5 - O 927-6/
Expiration Date 2o0p

By >
Dittomi D
Divisien

Fetianes 1 owival

E—-Z HANG STORM PANEL SYSTEM™ LG,

(0.039" GALVAMIZED STEEL)

DRAWN BY:

/ TLTECO e \

ROBICO SHUTTERS, Inc. oaTE

4800 S.W. S1st STREET

9/15/05

TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05—-289
£355 N.W. J6th. Sh, Sta. 05, VIRGINA GARDENS, Fl. 33166 Phona : (954) 889-7545 . Fax . [954) 689~8797
Fhene : (305) 871~1830 . Fox ! (308) 871-1531 DRAWING No
EB-00067189 REV. No DESCRIPTION DATE MY, Ne DESCRIPTION DATE
WALTER A. TILLIT Jr., P. E. ! oL 03-095 _ |9/15/05] - -
FLORIDA Lic, # 44167 2 ~ = 3 " ——| SHEET 12A OF 16




3'/14 | (8) (sec NOTE 2 BELOW)
E)
dren” sus. 1 /14p 4/14p W/ or w0 ®). @ ®) (ste noTE 2 BELOW)
© EACH END 3t ‘ CONCRETE ANCHORS o
oF Vo | } } (SEE SCHEDULE ON SHEET 15 OF 16) | . z
1" Min, / 1" Min, beR, PyEL
A s J — & s T ey 2. = P ey a e / L Yp.
o B } 7 Z3 v
1/2" =t 1 T z ot te—1/2
3 © 9 ° ° HE ° © 2 o
A . [
1% o~
T T I‘v T 7T T T T T T T 7 T T T T 71 T T T T 17T T 1‘1 T 71T T 11 -
(END PANEL) (INTERIOR PANEL) || (INTERIOR PANEL)| | | (INTERIOR PANEL) (END PANEL) o
SEE NOTE 2,IJ, 4 BELOW SEE NOTE 2, 3, 4 BELOW 3
- ¥ ..4-—-@ % _..-—--@) * - @ % *
L] [} L] & o

e

1/4"0-20x3/4"

™ BOLTED PANELS W/
MS W/
7/8"3/32" WINGNUTS

A A | @_EA._OVERLAP -
Av ‘V A N
HIRRGERRIINEIREREIN IR EN IR EREEE 2
1 R R I O
- _.J*.I__L_ ._.J....I_.J_L.I_I_.J-_J-_J...J..\__I—...LJ.L..J._..L...I.. _.L__J__)._J_l_.l__L.J....J.._.I__l_L-l—l*_-L_J_._l.__l._L._I_J.—J
[) \ a a ) [) / [) ) o /a o —
g \ N V4 CONCRETE ANCHORS

SEE SCHEDUL J =
\/( HEDULE ON SHEET 15 OF 75)1‘—4‘2550%0” P

"

| \

Max. \-

7" Min L sEg NOTE 3 \——@ R SEE NOTE 4 BELOW 1" Min.
BELOW

w0 ®.Q

¥ 1AST PANEL (D) TO BE INSTALLED AT EACH
OPENING SHALL ALWAYS BE PROVIDED W/

REAR HANDLE TO FACILITATE INSTALLATION
Sro 20 INsrALL-ATIQN IF INTENDED TO BE INSTALLED FROM
SCALE 3/32" = 1° INSIDE OF STRUCTURE.

r—7/4“ Max. GAP . — p—1/4" Max. GAP

DY A WAVAVAVAVAVAWVAVAWA
@ @@ om0 ®. Q)
SECTION A-A

SCALE 3/32" = 1"
NOTES

(1). DEFINITION OF SERIES 2000: £ ~ Z HANG STORM PANEL SYSTEM CONSISTING OF PANEL +

Cont, TRACKS TOP & BOTTOM.

(2). END PANELS SHALL ALWAYS BE CONNECTED TO BOTTOM TRACK CTHERWISE A STOP BAR
(8) SHALL BE PROVIDED AT TOP OF SUCH PANELS.

(3). IF END PANELS ARE CONNECTED TO BOTTOM TRACK, CONNECTION SHALL CONSIST OF
1/4"0-20x3/4" M.S. W/ 7/8"0x3/32" WING NUT OR 1/4'ox3/4" Min. THUMBSCREW
INTO TAPPED BOTTOM TRACK. LOCATION OF FASTENERS MAY BE AT EITHER OF TWO
EXTERIOR FLAT FLANGES OF END PANEL.

IN CASE THAT END PANELS ARE NOT CONNECTED TO BOTTOM TRACK (i.e. A STOP BAR
IS ONLY USED AT TOP) AT LEAST TWO PANELS SHALL BE CONNECTED TO BOTTOM TRACK
USING SPECS INDICATED ON NOTE-(3) ABOVE. IN SUCH CASE, CONNECTION OF FANELS
TO BOTTOM TRACK MAY OCCUR AT ANY PANEL LOCATION,

(4).

(5). SEE SECTION 1%, 3' & 4' ON SHEET 14 OF 16. SEE ANCHOR SCHEDULE ON SHEET 15 OF 16.

! ! AT 2
2/14)p 1'/14]p 4) Q)42 (.S‘EE NOTE 3 BELOW)
v CONCRETE ANCHORS (Tvp.) e
n{;}x‘ ! (SEE SCHEDULE ON SHEET 15 OF 16) / | Mg;']
1" Min. 1% Min, .
#14x1" S.MS. @
o P D - P A EACH END OF @
1/2" mwf fom ot o 1 /2"
° e ¢ © ¢ 9 ¢ © 2 °
2
A a l“
. ) be
T T 1 1T V1 1T T ! T’V T F TF 1 T 1 1 11 =T T T T 17 T T T T T &
(END PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (INTERIOR PANEL) (END FANEL) 2
SEE NOTE 2, 3, 4 BELOV NOTE 4 BELOW | | SEE NOTE 2, 3, 4 BELOW
/-\ﬂ ]
% 1) % 1) ¥ Qk 1) % (D\#
A NA
N \ N

T |BOLTED PANELS W/
1/4"0-20x3/4" M.S. W/
7/8%3/32" WINGNUTS
1@ EA OVERLAP

-

e == = £
a4

MAY BE LOCATED |f 172"

AT END OR
INTERIOR PANELS

STi

SCALE 3/32" = 1"

_§I_—7/4" Max. GAP
sy

@/}/\_/\/

NOTES

rTTﬂ

I

I

1

1

]

I

1

i

1

i

1

i

1

1
|
=
g
IS
—_
o)
3
S~

(ALTERNATE LOCATION
AT END PANELS)

* st PANEL () TO BE INSTALLED AT EACH
OPENING SHALL ALWAYS BE PROVIDED W/
REAR HANDLE TO FACILITATE INSTALLATION
IF INTENDED TO BE INSTALLED FROM
INSIDE OF STRUCTURE.

1/4" Max. GAP—-‘K—

SECTION B-B

SCALE 3/32" = 1"

@{(:LTERNA TE LOCATION
AT END PANELS)

(1). DEFINITION QF SERIES 1000: E — Z HANG STORM PANEL SYSTEM CONSISTING OF PANEL +

Cont. TRACKS AT TOP & male PANELMATES OR 15" LONG
(2)AT BOTTOM W/ PANELMATES.

(2). END PANELS SHALL ALWAYS BE CONNECTED TO EXISTING SILL WALL BY MEANS OF
TRACK AT BOTTOM, END PANELS
W/ 1/4"8-20x3/4"M.S. W/ 7/8'9x3/32"

SHALL BE CONNECTED TO
WING NUT OR 1/4'8-20x3,

PANELMATES OR, IF USED %NTLY W/ 15" LONG

DESCRIBED ON NOTE (3) BELOW).

(3). FOR CASES WHEN END PANELS ARE USE JOINTLY W/ 15" LONG TRA
BOTTOM BUT END PANELS ARE NOT CONNECTED TO BOTTOM TRACK
(8) SHALL BE PROVIDED AT TOP OF SUCH PANELS.

(4). FOR INSTALLATIONS  WHEN END PANELS AND SOME INTERIOR PANELS ARE DIRECTLY
MOUNTED TO EXISTING SILL WALL BY MEANS OF PANELMATES, ONE INTERIOR PANEL

MAY BE USED JOINTLY W/ TRACK AT BOTTOM ATTACHING BOTTOM TRACK TO WALL

W/ TWO PANELMATES FOLLOWING SFACING SHOWN ON ELEVATION AND W/
Min. EDGE DISTANCE. FOR THIS CASé INTERIOR PANEL USED JO%TL);HV’:{
L

NOT NEED TO BE CONNECTED TO
SUCH THAT ADJACENT PANELS (Tt
THEIR OVERLAPS RETAINED BY

BY ANY MEANS.
HE LEFT & RIGHT SIDE OF

TRACK

" Min. THUMBSCREW INTO TAPPED @(EXCEPT AS

c @ AT
, A STOP BAR

PRODUCT REVISED
s complying with the Florida
Buiding Code 65-4
Aceeptunce MoO 2 =4 { &4
Expirgtion Datel L /7671
vy

[[eArr )L

inmi DadeBPddnet
Bivision

3 172"
DOES
E INSTALLED

Contral

TERIOR PANEL) HAVE

F.B.C.(High Velocity Hurricane Zone)

/TLIECO e \

EB-0006713

WALTER A. TILLIT dJr., P. E
FLORIDA Lic, # 44167
R

TILLIT TESTING & ENGINEERING COMPANY
o 8355 N.w. J&th, Sb, Sle. 305, VIRGINIA GARDENS, -Fl. 33166
Phona ¢ (308) 871~15830 . Fox : (305) 871-1321

™
E~Z HANG STORM FANEL SYSTEM LG
(0.038" GALVANIZED STEEL) DRAWN BY:
9/15/05
ROBICO SHUTTERS, Inc. DATE
4800 S.W. 51st STREET
DAVIE, FL. 33314 _
Phone : (654) 6B9-7545 . Fox : (954) 689-8797 05-289
REV. Na DESCRIFTION DATE ]| iV, Ne DESCRIPTION DATE DRAWING No
. e ol - = SHEET 13 OF 18




CONCRETE ANCHORS
(SEE SCHEDULE ON . cont
SHEET 15 OF 16‘)_\ (:) :
=1 — #14x1" SMS. ©
N BT 7 Lo o [0)
POURED. ) 3
CONCRETE
REQUIRED FrT— ®
% (SEE DETAIL 1 &
W w NOTE 1 BELOW)
r—l ] :
{ i =
| L
] -
| A=)
! | |
| | Lo
| i @
| | : ! -
! | } ! ( > L
: /\, | &, [ E
i N l 17
| l - EE_
| ' i | &
| (SEE scHEDULE | . z
N ;
!—' FOR Min, - ! ! 1/4°0-20x3/4" 3
| SEPARATION | v I M oscrew w/ 8
I 10 GLASS. | ! | 7/8"2x3/32" g
l o l WING NUT @ A
! ! LEVERY OVERLAP
| [ f 4
I [ l
| o 5
: { | E
| | ; ) =~
! o8
| | S8 d
I % | /\, i . . g ‘: E
i | VTT E ng
! ! A -1 U
I I 8 4 A ~ 3
I f | I @ & .
| bl 4 g8 on a
| | VR
| ! 5§
POURED , | | l =
CONCRETE OR 4 ! o
CONCRETE _ | ! | NS
BLOCK WALL ] | ™
REQUIRED ' /
>
T
L === [ 1/4"0-20x3/4" M.S.
= W/ 7/8"¢x.3/32 “Wing
NUT BR 1/4"8—20x3/4"
THUMBSCREW (SEE
CONCRETE ANCHORS NOTE 1 BELOW)
(SEE SCHEDULE

ON SHEET 15 OF 16)

SECTION 1’

SCALE: 3/8" = 1"

(2)f10x3/4"

/— SMS 0@
—®

i

e
A\
DETALL 1

SCALE: 1/2" = 1*

POURED CONCRETE

REQUIRED

CONCRETE ANCHORS AN '——-@ Cont,

(SEE SCHEDULE
ON SHEET 15 OF 16)  \ E

]

T~

—.500"
1.000” =,

50

ﬁ

q::

|
|
|
1
|
| |
| |
| |
§ A BN
§ l | .
! S
i | | =@ &
f
[ /\, ,\/ |________® ~
| “\ T VT &
{ | | | ©
l ' |
‘ &
| ' | gl
(SEE SCHEDULE | 3
ON SHEET | | | z
15 OF 18,
FOR Min.) -1 | I 1/4"0-20x3/4" S
SEPARATION | | IM screw W/
TO GLASS. | | | 7/8"8x3/32" 3
| | WING NUT @ ]
' ' LEVERY OVERLAP &
| [ | | a
I | f Ly
i
‘ b )
i |l I E
| P g
' e g
| A j Vo %
I | ! |
| | I | n..
J' . v &
[ )
| ; | § ~
d | 1 | g
POURED | } I
CONCRETE i
S&Sﬁ”ﬁfﬂf o
REQUIRED | |
l |
i 1 |
1/4" ELCO .
male PANELMATE Q
@ 12 1/2" 0.C. 'Y

£Q £Q

NT.S:

o”
=4

¢

SECTION 2’

SCALE: 3/8" = 1"

OF PANEL = ¢ OF @

areys

14x1" S.M.5. @
/_ﬁa END OF (@)
—®

CONCRETE_ANCHORS
(SEE SCHEDULE
ON SHEET 15 OF 186)

\rL’_

POURED CONCRETE

REQUIRED ~\\___ 0t bnEQm

1/4"8~20x3/4"

TRUSS HEAD M.S.
W/ WING NUT ®

MIDWIDTH OF Cont.

EVERY &) (Typ.)

3/16" Alum, FOP

CONCRETE ANCHORS
(SEE SCHEDULE
ON SHEET 15 OF 16)

POURED CONCRETE \
EIEs
N

5]
J

-

Conl.

1/4"0-20x3/4" M.S.
W/ 7/8"%3/32"
WING ‘NUT @ 12" 0.C.

#14x1" SM.S. @
EA END OF @

(SEE DETALL 1 &
NOTE 1 BELOW)

RIVET @ MIDWIDTH
OF EVERY

(Typ.) 1/4"0~20x3/4"

M.S. W/ 7/8'%3/32"
WING NUT @ 12" 0.C.

b e o

\ REQUIRE
@ Cent.
{_Mn"sms P
L /‘ A END OF
o /
T ,
SEE DETAIL 1 &
-_‘_ \ il = /(vorE 7 BELOW) \
‘_j Ly

A,

. 1%
(SEE SCHEDULE

ON SHEET 15 OF 16)_|

-———-——<l e—-——_._.__.._.-‘————__

L 1/4"0—20x3/4"

ON SHEET 15 OF 16)__|
f— )

<

|

|

|

|
(SEE SCHEDULE :
FOR Min. SEPARATION |
|

i

!
!
!
|
|
/— EVERY OVERLAP
[
|

1/4"8-20%3/4"
M. SCREW W/
7/8"x3/32"
WING NUT @

"L.” Max. PANEL LENGTH (SEE SCHEDULE ON SHEET 15 OF 16)

9
§
6
5O
M. SCREW 8 ‘ T0' GLASS.
""FOR Min. SEPARATION | 4 o ~g ! -
| T0 GLASS. || Wine NOT @ ga }
i | EVERY OVERLAP T2 i | /
| - e |
I N
[ I l x4 | ;
! | ' l o8 i3 | ' | Q
% =\ 89S L g | t Lo 88
} T TV N oS LA, A, S~
| | I | tn Ly 9 A T/ n
] i " WE | [ i ny
|1/4'9-2003/4" M.S. | .t 8¢ EH py % | l Co Re ER O
Wy 7/8%3/32" WiNG || LR 9 ! Cont. | L} B 42 =«
INUT @ 12" D.C. | ! 4 &8 | l 4 x§ w
! | I £ 09 ' } <y £% 8
" » x & i , ¥
E( 2" x 3" Mox.) | i 3 3 | ! T g‘ §
| | i | s % | ! &
| Cont, 1 / N | %
! HHl I | RN a | i | Qr..
i r | l/ ! £ W /] | i ] Th
! ) % Cont. \ )
‘ Al L POURED CONCRETE : 1 ot
N v’v& ;/—az’gx.;%‘z‘ Me RCCRETE e[ 7] T " 'bv?/'?;e;é%ﬂ/sz "
. 1 " » o . X,
o LouRED £0—tHH—£0— wr OR 1 4’?:(51:2_?3/4 “ REQUIRED 5 1.25 17 Min. Vine, NUF R
K THUMBSCREW 1/4"8—20x3
REQUIRED NOTE 1 BELOW) CONCRETE _ANCHORS g 174% 270’?{ 4 g [HUMBSCREW (SEE
L heE oF (SEE SCHEDULE WG / / %3/ NOTE 1 BELOW)
CONCRETE ANCHORS WALL OR SLAB ON SHEET 15 OF 16) a1 2'- o c
(SEE SCHEDULE E. D (Alt, CONDITION)
ON SHEET 15 OF 16) Cont,

SECTION 3’

SCALE: 3/8" = 1

NOTE 1;

PANEL (1)
(3) AT BOTTOM, BASED

SEE SPECIFICATIONS AND REQUIREMENTS FOR
USE -OF STOP BAR AT TOP AS WELL AS
CONNECTION TO TRACKS

SERIES INSTALLATION TYPE ON SHEET 1

or
ON 1000 OR 2000
3 OF 16.

NOTE FOR COMBINATION QF SECTIONS:

| MOUNTING SHOWN ON SECTIONS 1'
CAN BE COMBINED IN ANY WAY TO SUIT ANY
INSTALLATION.

 J
SECTION 4 PRODUCT REVISED

SCALE: 3/8" = 1"
Bu

Acwn ‘s@e Mo © O

E
THROUGH 4'

D.

= EDGE DISTANCE
(SEE SCHEDULE ON
SHEET 15 OF 16)

ﬁ’szcﬂc—'

idiag Code

E?msﬂm

as eomplying with the Florida

F.B.C.(High Velacity Hurricane Zone)

/TLECO we \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th, Sb, Ste. J05, VIRGINIA GARDENS, Fl. 33166
Fhone ; (308) 871-1530 . Fox : (305) 871-1531

EB-0006719

WALTER A. TILLIT Jr., P. E

FLORIDA Lic. # 42167

™
E—~Z HANG STORM PANEL SYSTEM LB,
(0.038" GALVANIZED STEEL) DRAWN BY:
9/15/05
ROBICO SHUTTERS, Inc. DATE
4800 S.W. 51st STREET
DAVIE, FL. 33314 -
Phone : (954) B89-7545 , Fax : (954) 889-8797 05-289
REY: No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
. e = = - S SHEET 14 OF 18




POURED CONCRETE

OR CONCRETE

BLOCK WALL
REQUIRED —\

‘ 2" Min.

E. D. = EDGE DISTANCE

CONCRETE ANCHORS
@ 12" 0.C. __._\\,F 1 VAXIHUM MAXIMUM ANCHORS SPACING FOR £ D. = 3 1/2" #+ APPLICABLE TO -
|
i pesigN L/?jw TAFCONS CALK—IN PANELMATES AzfcggggINiT;gN LENGTH ".* (in.)
AN N W (Psl) o CONCRETE| T0 MASONRY | 70 CONCRETE | TO MASONRY | TO CONCRETE | TO MASONRY OF THEM
. , 12" N/A 12* N/A 12" N/A 1" & 2' (TOP)
2'%2"%.055" TO 2"x3"x.055" L % ]
Cont. Alum. ANGLE OR / 12" 4" 12" 5 1/2" 5" 5" ;ER,QE%Z%Mi
.080" 3105-H154 SHEET - T (BOTTON)
METAL Alum. BENT PLATE 12" 5172 12" 8 1/2" 8" 8" SERIES 1000 ++
OR 18 GAGE GALVANIZED "
STEEL. N/A N/A N/A N/A 12 172" | 12 172" 2" (BOTTOM) )
- +66.0, —75.3 70" OR LESS
7" N/A 6 1/2" N/A 4 172" N/A 3’ (TOP)
12" N/A 12" N/A g 1/2" N/A 3' (BOTTOM)
12" N/A 12" N/A 12" N/A 4’ (TOP)
SCALE: 3/8" = 1" 12" g" 12" 12" 12" 12" 4" (BOTTOM)
D CLOS D B
B
IR
+ REQUIRES Mox. DISTANCE BETWEEN BOTTOM OF PANEL AND (2) ToO BE: 1/2" £ L@ -
»
(VALID ONLY FOR PANEL INSTALLATIONS AS PER SECTIONS 1' THRU 4', SHEET 14 OF 16) TV T—0
- 4 4 REQUIRES Max. DISTANCE BETWEEN BOTTOM OF PANEL AND (2) TO BE: 3/16" | 7
| © .
MAXIMUM DESIGN Max. PANEL LENGTH ' N
s MINIMUM SEPARATION PANEL APPLICABLE TO | ! '3
PRESvfung.ﬁl)mNG (SEELSE'Z}‘/oNs) FO GLASS CONDITION SECTIONS L :'_1
+66.0, ~75.3 70" OR LESS 2 9/18" BOLTED * 12 &3 L L@
+66.0, ~75.3 70" OR LESS 2 7/8" BOLTED * 4’
* BOLTED W/ 1/4"6—20x3/4" 5.5. M.S. & WINGNUT AT OVERLAP & 40% OF PANEL LENGTH
MEASURED FROM BOTTOM OF PANEL.
PRODUCT REVISED
ANCHORS LEGEND a5 complying iththe Flovida
Buiding Code
ANCHOR s No05=0927:0/
XK \AXIMUM ANCHOR SPACINGS ARE VALID FOR ANCHORS WIN. A e L 7 T L] 1008
3 1/2" EDGE DISTANCE. FOR E. D. LESS THAN 3 1/2" REDUCE TYPE SPACING ? T,
ANCHOR SPACING BY MULTIPLYING SPACING SHOWN ON SCHEDULE 8y._{1 144.
BY THE FOLLOWING FACTORS. (NOTE : Min. E. D. FOR CALK—~IN TAPCON,/ , Wifami Dade proauct Conivel
ANCHORS IS 2 1/2"), PANELMATES 3.0 Bivision
FOR THIS OPERATION TO BE POSIBLE, REDUCED SPACING _
OBTAINED USING FACTOR SHALL NOT BE LESS THAN MINIMUM
SPACING INDICATED FOR EACH ANCHOR TYPE AT ANCHORS CALK—IN 2.5"
LEGEND.
— CF TAP—GRIP 30" F.B.C.(High Velocity Hurricane Zone)
E-~Z HANG STORM PANEL SYSTEM™ L.G.
ACTUAL E. D. TAPCON,/ - (0.039" GALVANIZED STEEL) DRAWN BY:
PANELMATES CALK=IN CF TAP-GRIP Y — SEE SHEET 16 OF 16 FOR ANCHORS TYPE & SPACING FOR oy15/08
INSTALLATIONS INTO WOOD FRAME BUILDINGS. ROBICO SHUTTERS, | /
3" 86 75 1.00 ‘ ILIECO » INC. alld
: : : M INC. 4800 S.W. 51st STREET
2 1/2" B2 50 80 watintl TILLIT TESTING & ENGINEERING COMPANY DAVIE, FL. 33314 05-2839
. > 6355 N, 36th. Sh, Ste. 305, VIRGINIA GARDENS, Fl. 33168 Phone ! (954) B89~7545 . Fax : (954) 689-8797
2 "’ '50 - - y V Fhone : (305) 872-;,3;;0006*-;‘;9: (02 871-1831 REV. No DESCRIPTION DATE ‘ REY. No DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr, P. E OLD 03-085 9/15/08] 3 - =
Af-ELORIDA Lic. # ;4167 2 - - | 4 - ~ SHEET 15 OF 16




) /-—TO EXISTING WOOD HEADER.

/ 4) Cont.

#14x1" SMS.

g\

1/4'2 LAG SCREWS @ 6" 0.C. W/
1 1/2" Min, THREADED PENETRATION

@ EA END OF @

(SEE DETAIL 1/14 &
NOTE 1A BELOW)

1/4" LAG SCREWS @ 6" 0.C. W/
1 1/2" Min. THREADED PENETRATION
TO EXISTING WOOD HEADER.

e Cont,

#14x1" S.M.S.
@ EA. END OF (

» -,lc;g\

—.500

1/478~20x3/4" TRUSS

Mm ]

(3) Min. 2'x4" WOOD
HEADER REQUIRED
FLAT OR ON EDGE

1/4"8 LAG SCREWS @ 6" 0.C. W/
1 1/2" Min. THREADED PENETRATION

/— TO EXISTING WOOD HEADER.

1/4"8 LAG SCREWS @ 5" 0.C. W/]
1 1/2" Min, THREADED PENETRATIGN,

NUT @ 1

@

s | TO EXISTING WOOD HEADER.

1/4"0-20x3/4" M.S.
W/ 7/8 ’5(3/32" WING

(4) Cont.  g14x1" SM.S.

EA. END OF @

T | ey D aon
| | }::__ G Ni MIDWITH ont. 14x1" SMS.
| E_@ I | S —— OF EVERY ® (Typ.) é EA END OF @
' . Y st S { :
IDTH y :
WOOD HEADER l wooo weaoer | B | o (Tve.)
1 [ S P (SEE DETAIL 1/14 &
REQUIRED REGUIRED . S
i s i 2 i 3 T NOTE 1A BELOW)
—— T T S —— —T T £ 1
| g r
| Q 1/4"8-20x3/4" ! 5
2 9/16" M } 4 e : ; . RE;/ / | |
in. ” \ & . i ¢ 7/8"8x3/32"
- SEPARATION | | | 1/4%0-2063/4" G 29/6"mn | 1| 1/4"0-20x3/4" &2 WiNG NUT @ I | g
0 6LAsS. | | | M8 Wi7/8exs/52 — SEPARATION = | | 4fs, w/ g 12" 0. 1 S
b wive wuf o TO GLASS. | 17/8%x3/32" = p— - Iy
| TEERY OVERLAF’ 8 | e noTe 4 Q
& |t 1/4" —20xJ/4 *
: & | T EVERY OVERLAP E y | I M. SCREW W/ i
%F 8 | 2 9/16" Min. 7/8%x3/32" 8
/ = , =
' & . S — SEPARATION — WING NUT @
{ S8 > %) L g | || everr o g
| | S g o — - o /0 2
< v T T
] L vl < ' S %‘E I 8
== —— T g . ° | 88 g
: § 84 - 5 | ‘. 8 : 8§ 5
K Q ; | i o
o - S &8 o o ] ® ': - | {ég" E
el B LT ] UK B b L llegg N g
! §8 11| ¥ I -
S | g8 = : | 7rs .20x§/4" M.S. S o % 8
S | T ool & i W/ 7/8'8x3/32" 2 g o =
& | N | n W N
= I | b{ | { | WING NUT _J.‘ x ¥ hi o~
L B e g I— E[_ | VIR e 12" 0C. §8
| s i |
" o =TT {7 2"x3" Max. 3t
g ’ e/ & Y B Rk
1/4"8~20x3/4" M.S. ; i
21 2 048';75%3_2 WING, NUT/ \/\ Cont. N ) g l_
- THUNASCREN (SEE NOTE 14 BELOW) - \' ' y L e L_
" " ’ 1/4"8 ELCO mals PANELMATE W, H CEICVIE || FDR " "
/e STEE 8 6 08 W UL 700 FRees o g | Sy
MIDWIDTH OF PLATE AT SERIES 2000 OR /2" e EQ—B—EQ7 R 1/49-20x3/4"
(2)1/48 ELCO male PANELMATE W/ M/n. (2) 2'x THUMBSCREW (SEE NQTE 14 BELOW)
1°7/8" Min. PENETRATION @ 12" @ WOOD PLATE REQUIRED
SERIES 1000 FLAT OR ON EDGE \ 1/4% LAG SCREWS @ 6" 0.C. W/
an. (2) 2%4" 2" win-d 7 1/2" Min. THREADED PENETRATION
WOOD PLATE' REQUIRED ” Ui Min. 2"%4” WOOD
N g in, 2%
SEC TION 1 49 SECTION 2 PLATE REQUIRED FLAT
SCALE: 1/4" = 1"
SCALE: 1/4" = 1" L/
)
A ¥
4 SECTION 3”
.ALQ_T_ES;

. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO

+66.0, —75.3 psf AND PANEL'S LENGTH UP TO 5'-10"

2. FOR NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

EQEQ

waoD

—tp

HEADER REQUIRED
”—I_}'V_f“
.
2 7/8" Min. | } |
SEPARATION |
TO GLASS. o 1/4"¢—20x3/4 “
SCREW W
| | 7/5"¢x.7/32'
WING NUT @

| Everr overLaP

L™ Max. PANEL LENGTH {SEE NOTES BELOW,

3/16° Max. FOR SERIES 1000
0 % L™

—-1/2" Max FOR SERIES 2000

1/4"8-20x3/4" M.S.

W/ 7/8"8x3/32" WING
NUT OR 1/4"8-20x3/4"
THUMBSCREW (SEE

NOTE 1A BELOW)

1/4"8-20x3/4" MS. W/ 7/8"x3/32"
Cont. WING NUT & 12"

1/4"8 LAG SCREWS © 6" 0.C. W/

INSTALLATION DETAILS ON EXISTING

ty

NOQTE Fi INATION OF SEC

FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE
COMBINED IN'ANY WAY TO SUIT ANY INSTALLATION.

=13” Mip

WOOD HEADER
REQUIRED

ALTERNATIVE' TOP HEADER WOOD FRAME
CONDITION & ANCHOR LOCATION

SCALE: 1/4" = 1"
NOTE : SHUTTER TRACKS NOT SHOWN FOR CLARITY

WOOD BUILDINGS FOR E—-7Z HANG

1" 1/2" Min. THREADED PENETRATION
© MIDWIDTH OF PLATE
Min, (2) 2"x4"

WOOD( PLATE REQUIRED
FLAT OR ON EDGE

SECTION 4”

SCALE: 1/4” = 1" pRoDUCT REVISED
a5 complying with the Florida
Bulding Code

SCALE: 1/4" = 1"
NOTE_ 14

PANEL

STORM PANEL SYSTEM

7&!2/9{

USE OF STOF BAR

CONNECTION TO TRACKS
AT BOTTOM, BASED ON 1000 OR 2000

SERIES INSTALLATION TYRPE ON SHEET 13 OF 16.

SEE SPECIFICATIONS AND REQUIREMENTS FOR
AT TOP AS WELL AS

Accepiance N

w05-g927.0]
’I Y

OR - Bhvision

F.B.C.(High Velocity Hurricane Zone)

/TLIECOme. \

TILLIT TESTING & ENGINEERING COMPANY
&355 N.W. 36ih. St., Ste. 305, VIRGINIA GARDENS, Fi. 33168
Phone : (305) 87!—’5.!0 . Fox ! (305) 871-1531
EB~-0006719
WALTER A. TILLIT Jr., P, E
FLORIDA Lie. J.d 44167

E-7 HANG STORM PANEL SYSTEM™ Le
(0.039" GALVANIZED STEEL) DRAWN By:
9/15/05
ROBICO SHUTTERS, Inc. DATE
4800 S.W. S1st STREET
DAVIE, FL. 33314 —
Phone : (954) 6897545 , Fox : (954) 689-8797 05-289
REV. No DESCRIPTION DATE REV, No DESCRIPTION DATE DRAWING No
; R - = SHEET 16 OF 16




